


M | heard you’re in the market for land.

w
(a) Yes, somewhere to build a house.
(b) I can if you don’t mind helping.
(c) Don’t worry. It’s on the house.
1 (d) No, | really like its location.
M How long is your commute to work? siA M 0] EX| Fof 2o ot S0,

w § w
a) | often take the highway.
(b) Gl0] =i Al BECHH & 4 A0,
(c) ZHatX| oM. FELICE

(d) Okm, M 20| QX7 HY 0tg0fl S0,

b) The train is the fastest way.
c) | live north of the city.

d) It usually takes 45 minutes.
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W Could you split the bill, please?
M

Rl

0i2] commute S5t take 0[&3ICk (AlZ0

) ZzIct
a) Do you want a separate check for each?

(
 (b) No problem. When do you want to pick it up?
2 (c) ’'m sorry, but it’s too hard to break.
: i (d) Thanks, but I’d rather not do it today.
W Are you taking any vacation time soon? §
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‘ M
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(@) It would be a great place for relaxation.
(b) As you know, | can’t be in the office on

Fridays. (c) ZEELICIEL LS T TR 4~ L.
(c) You.should have told me when you're () TIRXIBE 952 12| 51| 2L0l2.
available. ‘
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M | can’t tell you how sorry | am.
w

(@) I don’t care how many times you’ve told me.
(b) I have something to tell you about it, too.

(c) That’s okay, but make sure it doesn’t happen
again.
(d) I’'m sorry to hear your father passed away.
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W Does Sarah always give spare change to
beggars?
M

(a) She’s a very compassionate person.
(b) Don’t worry about her finances.
(c) ’'m sorry for the inconvenience.
(d) Well, it's best to ignore them.
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M I didn’t know she’s been going out with
Chambers lately.
w

a) How long have you been seeing each other?
b) Actually, they’ve been dating for a while.

c)

d)

| thought they were staying home today.
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Really? | didn’t know she’s related to
Chambers.
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W Can we make sure this customer pays his bills
on time?

a) I'll keep him under observation.

(

(b) Sorry, | didn’t know it was due.

(c) One of our most lucrative clients.
(

Right, the policy change stands.
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G N 1M®b) 12(c) 13(b) 14 (a)
: ’ i i i ?
: M Aren’t you taking a business trip next week? 15 (a) 16 (d) 17 (©) 18 (c)

w
19 (c) 20 (b)
(@) You'll be traveling soon.
(b) That’s the plan for now.
(c) Let’s go double-check. 1
(d) I'll see you there. 11
siA M CRS ol S% 7IAK| ALte? M How are we going to cut expenses?
w W We need to discontinue our cable service.
(a) Sl ofall 2+ 7R0LR. - M But I love watching TV!

(b) SxH=A= I A0l LW
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d) 7N =E a) Then let’s watch something together.

(
¢ (b) I'm afraid there’s no other choice.
s TS S0l 28 7h= XS Sfelshs 2ol iRt SEe2 7k XX © (c) We'll buy one when they’re on sale.
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d) You can watch lots of channels.
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(d) 2Z ol 2 & Sot 2l k=t W Who's the new guy in your office?

A1 OfR| 2RRIAC| 7|E0] O OF ZO} HIGICH= ol Che 11 0127} ‘ M Oh, he’s the new marketing assistant.
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a) | haven’t seen any new recruits.

b) He’s done great work so far.

c) Yeah, the last person left after a few weeks.
d) They didn’t ask me my opinion.
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M Be sure to get enough sleep tonight before
your test.

W But | still have tons of studying to do.

M Well, you won’t remember any of it if you're
too tired.

w

(@) I've been sleeping very well lately.
(b) I’ll just study for one more hour.

(c) I have to be at school at 7.
(d) I won’t forget my textbooks.
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W Hi, is this Home Appliances Plus?
M Yes, it is. What can | do for you?

W | bought an oven there, and it’s not working.

M

a) Tell me more about the problem.
b) You can pick it up at five o’clock.
c) Is the oven working properly?

d) We’ve moved to a new location.
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M I returned a book yesterday, but it’s still

unreturned on my account.

W Where did you return the book?
M 1 put it in the book bin outside because the

library was closed.

) | see. We haven’t checked the book bin yet.
) You can pay the fine in the cashier’s office.

You have a two-week grace period.
So do you want to close your account?
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W How’s it going with your new soccer team
member?

M He’s a really good player without a doubt, but
he’s hard to get along with.

W Why? Does he have any problems?

<
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M Sister, can you lend me 20 bucks?

W Again? You haven’t paid me back from last
time.

M Please? | know you can spare it.

=

a) | have no doubt you will.

b) Yes, I’'m feeling pretty good.

c) How about standing on your own two feet?
d) No, I’'ve borrowed enough from you.
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W What is Kimberly’s problem?

M There’s nothing wrong with her, as far as
| know.

W She’s always really short with me.

M

a) It’s really long, in my opinion.

b) | always say that’s her biggest fault.

c) Well, she is standoffish sometimes.

d) Let me introduce you, and then decide.
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M How long is the wait for a table?

W It’ll be about 30 minutes.

M Okay. Could you please add us to the list?
w

a) Thank you for dining with us.

b) Let me tell you about the specials.

c) I'll call you when we can seat you.

d) How did you hear about us?
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W This Internet connection is the absolute worst.
M You should call customer service.
W What good will that do?

a) Just unplug your modem.

b) Maybe they’ll have an explanation.
c) I'll connect to the Internet later.

d) Someone in customer service.
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Listen to a conversation between two friends.

M | don’t see the attraction of e-books.

W Why? E-book reading is so convenient.

M P'll always prefer the look of print on paper.

W But some e-book readers have high-resolution

text.

M Still, I would feel weird holding a device

instead of a book.

W Well, | think e-books are here to stay.

Q What are the man and woman mainly

discussing?

) The latest e-reader technology
) The man’s aversion to e-books

The future of e-books over paper
The woman'’s reading preferences
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Listen to a conversation between a doctor and a patient.

W Your results look good overall, but your blood

pressure is high.

M Is it really bad? Should | be concerned?
W It’s not alarming, but you should make

adjustments.

M What would you suggest?
W Eat more vegetables, no fried food, and get

more exercise.

M | guess | really need to change my lifestyle.

Q What is the main topic of the conversation?
(a) Recommendations for exercise

c)
d) How to manage a health condition

b) New research about heart health
Symptoms to be concerned about
)
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Listen to a conversation between two friends.

M
w

Q

Hi, Kate. | was expecting you last night.

I’'m sorry | forgot to tell you that | couldn’t
come. So how was the party?

It was great. You know, | think we’ve collected
more than 10,000 dollars.

Great! Isn’t it much more than you’d
expected?

Of course it is. The committee said that with
this money, they’ll be able to buy the items
they need to send to Africa.

They’re doing a really good job. Can | donate
a small amount of money for the orphans in
Africa by mail?

Sure, a lot of people are donating their money
by mail.

What is the conversation mainly about?

a) A birthday party

b) A charity party

c) A vacation to Africa
d) Mailing a payment
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Listen to a conversation between a representative and
a customer.

W Can you tell me which washing machines are
on sale?

M We’re offering discounts on those in that row.

W Which one is the best deal, you think?

M This one has a good price and comes with a
warranty.

W Does it have any special features?

M It’s very basic, but that makes it easy to repair.

Q What is the woman mainly doing in the
conversation?

a) Asking where she can find a product

b) Complaining about a product she purchased

c) Deciding which appliance she should buy

d) Offering suggestions to a store clerk
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Listen to a conversation between an airline representative
and a customer.

M Hi, there. | need to change my plane ticket.

W Sure thing. Do you have the confirmation
number?

M 1 don’t. Can you use my name and flight date?

W Sure. But you should know there will be a fee
to make the change.

M Yes, that’s not a problem. My office will cover
the costs.

Q What are the man and woman mainly doing in
the conversation?

a) Trying to locate the man’s baggage

b) Reviewing seats for a vacation trip

Altering the man’s travel itinerary

Discussing the man’s plans for work
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Listen to a conversation between two acquaintances.

M Congratulations! | heard you’re going to have
a baby.
W Thank you. Who did you hear that from?

M Jennifer told me. Is it supposed to be a
secret?

W No, no. We’re starting to announce it to people.

M Is it a boy or a girl? Do you know?

W We don’t know, and we told the doctor not to
let us know.

Q Which is correct according to the conversation?

(@) The woman is expecting a baby boy.

(b) The man is looking forward to seeing the
baby.

(c) The woman does not want to know the baby’s
gender now.

(d) The man will tell Jennifer that the woman is
pregnant.
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Listen to a conversation between a representative and a
customer.

M This morning | tried to withdraw some money
from an ATM, but | got an error message.

W Could you tell me your name and the last four
digits of your Social Security number?

M My name is Robert Stevenson and the
numbers are 4768.

W Okay. Did you try the transaction more than
three times?

M Actually, yes, because | couldn’t remember
my PIN at first.

W Since you entered incorrect PINs more than
three times, your account was automatically
blocked.

M Could you help me access my account?

W Sure, I'll remove the block for you immediately.

Q According to the conversation, why couldn’t
the man withdraw his money?

(a) He didn’t have enough money in his account.

(b) Someone else tried to get access to his
account.

(c) He entered the wrong PIN several times.

(d) He couldn’t find where the ATM was located.
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Listen to a conversation between a husband and a wife.

W Are you almost packed? I’'m worried we won’t
catch our flight.

M I’'m almost done. | just need a few more
minutes.

W 1| really wish you’d finished packing yesterday.

M I’'m sorry. | had to work late. | just didn’t have
the time.

W Well, if we don’t make it to the airport soon,
we’ll be stuck.

M Don’t worry! There’s no need to panic.
| promise we’ll get there.

Q Which is correct according to the conversation?
(a) The woman is excited about a vacation.

(b) The man needs a ride to the airport.

(c) The woman is concerned they will be late.

(d) The man is anxious about traveling.
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Listen to a conversation between two friends.

M Look at that. They overcharged me again.

W Are you sure?

M | got charged twice for the beans and an
orange juice.

W Let’s go in and get your money back.

M No, | just won’t shop there anymore.

W You should at least tell them what happened.

Q What can be inferred about the man from the
conversation?

(a) He bought two bottles of orange juice.

(b) He was overcharged for fruit he bought.

(c) He wants the woman to get his money back.

(d) He is fed up with going to the grocery store.
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Listen to a conversation between two friends.

W Great ride today, Michael.

M Yeah, | enjoyed the new bike route. Same time
next week?

W Not this time. | have to take my bike into the
shop.

M Well, you could borrow my spare.

W Thanks, but it’s too big for me.

M OK, let’s plan a ride as soon as you get your
bike back.

Q What can be inferred from the conversation?
(@) He runs a bicycle rental shop.

(b) She wants a smaller bicycle than her current
one.

(c) He can repair the woman'’s bicycle.
(d) They regularly bike together.
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Welcome, everyone to our Student Town Hall
meeting. We’ll be discussing several student
council proposals and gathering your input
before the council takes a vote. Tonight, we’ll
discuss installing more outdoor lights on campus,
adding several sports to the student league, and
ideas for helping students complete their degrees
faster. We first want to know which issues matter
to you most and then we’ll be eager to hear your
ideas and feedback.

Q What is the speaker mainly talking about?

(@) Recent complaints from parents about
campus life

(b) Polling faculty and students to resolve problems

(c) Expanding recreation opportunities for students

(d) Initiatives to improve students’ college
experience
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Find stunning and durable Italian style to match
your home and express your personality at Divina
Gallery. For more than fifty years, Divina has
been offering harmonious and creative furniture
for contemporary tastes. Our sleek and modern
designs accented with decorative details and
fine Italian leather will complement and enhance
your living space. Those who have purchased
Divina home furnishings know that our furniture
concepts are the pinnacle of quality and comfort.
Visit our elegant showroom at 1144 North
Broadway Avenue.

Q What is mainly being advertised?

(a) A store that sells quality furniture

(b) Contemporary art on display at a gallery

(c) Decorations by an lItalian interior designer

(d) A modern housing development on Broadway
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Democracy, by its very nature, makes it
difficult for politicians to tackle issues that the
populace does not care about, in particular
global warming. Politicians necessarily avoid
environmental regulations that are disagreeable
to the public, no matter how critical those actions
may be for the long-term health of the planet. It
doesn’t make sense for them to back unpopular
measures when popular support is the basis of
their power. If their constituents fail to recognize
the importance of addressing global warming,
politicians won’t stick their necks out with
legislation.

Q What is the main idea of the talk?

(a) Politicians disregard the impact of global
warming.

(b) Voters must voice their concerns about global
warming.

(c) Global warming is not taken seriously by
democratic leaders.

(d) Democracy makes important but unpopular
legislation difficult.
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It’s about time to celebrate another Thanksgiving,
and this Saturday before the Thanksgiving break
we will be having our annual potluck dinner. If you
haven’t already agreed to make a certain dish,
please look on the sign-up sheet to find what
is still needed. The dinner will start at about 5
o’clock p.m. and will last until 7 p.m. The church
social will follow the dinner and take place at
Newman Hall. Family and friends are all welcome
at this time of fellowship.

Q Which is correct according to the
announcement?

(@) The church social is planned for the Saturday
after Thanksgiving.

(b) The dinner is scheduled to last approximately
two hours.

(c) Dinner will be served after holding the church
social.

(d) Every church member is required to bring a
dish to the dinner.
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There are tens of millions of known chemical
compounds and more being assembled every
day. The number of future combinations of
elements is virtually infinite, and the periodic
table of elements continues to expand. We’ve
become almost too good at our craft. Like kids in
a candy store, the question is not whether there
is more chemistry to be discovered but where we
should focus first. With all the problems facing
human survival, we can’t afford to continue
acting like a million monkeys working in a million
labs and just hope that solutions will arise.

Q Which is correct according to the talk?

(@) Ten million chemical compounds have been
discovered so far.

(b) The periodic table of the chemical elements
has been finalized.

(c) We have to stop using monkeys for our
chemical experiments.

(d) There are an infinite number of chemical
compounds possible.
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Starting next week, we will introduce a new menu
at the restaurant. It’s extremely important that
waiters learn every detail of the new menu, which
you’ll find in front of you. As you can see, we’ll
now be including and promoting local ingredients, 17~18 77777777777777777777777777777777777777777777777777777777777777
but this has caused our prices to increase. When ;

customers ask why, you must kindly explain
that while they are paying a little more, they are
receiving the freshest produce grown in the area.
The same is true for the chicken and beef, all of

Good morning, everyone. Thanks for being
here. As you know, we are excited to add a new
department to the business. We are finally able to
create a three-person marketing department that
will help us increase visibility in the marketplace
and bring in more revenue. | want to introduce

which comes from local farmers.

Q What can be inferred from the talk? you to the new marketing director, Jane Roberts.

(a) Waiters must recommend new dishes of the ! As the holder of an upper level position, she
menu. will generally oversee various aspects of the

(b) Customers are unlikely to pay more for their . marketing process from every angle. In other
meals. ‘ :

words, she will be responsible for planning,
budgeting, executing and analyzing the campaign
as well as consulting clients. Since 10 years ago,
she has been dedicated to identifying target
audiences and determining the best way to reach

(c) The restaurant has changed its food purchasing.
(d) Chefs must pursue training in other cuisines.
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pursue &5t cuisine 22/(2) (a) Client consultation

(b) Selecting mass communications

(c) Developing products

(d) Interviewing applicants
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For the next six weeks, we will explore the
definition and various aspects of feminist theory.
Feminist theory, or feminism, is the pursuit of
equality for men and women. In other words,
all women should have the same rights and
opportunities in society as men. Although all
feminists try to achieve gender equality, there
are various approaches to this theory including
liberal feminism, radical feminism and socialist
It’s difficult to provide a complete
picture of this study, but in general it aims to
understand inequality between the sexes as it
relates to sociology, communication, literature,
politics, education and philosophy. This is not
an objective inquiry. Rather, feminist theory
assumes women are confined to a lower level of
the social hierarchy. It then asks why this is, how
the power structures are reinforced, and how it
can be altered. Our society often sees class as
if it is separate from other forms of oppression.
But while it’s not usually discussed as an issue
related to feminism, class is at the center of

feminism.

feminist work.

Q19 Which is correct about feminist theory
according to the lecture?

(a) Its history is complex and spans the globe.

(b) It questions whether gender equality exists.

(c) It applies a single assumption across many
fields.

(d) It excludes the male perspective in its
research.

Q20 What is the most relevant to feminism?
(a) Social hierarchy

(b) Women'’s education

(c) Social suppression

(d) Women’s communication skills
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a) According to management.

| could use the extra work.

| can’t imagine the feeling.
Almost 300 people are employed.
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M | can’t believe Sam built this patio.
w

a) The contractor finished it yesterday.
b) We should invite him over to see it.
c) He’s pretty handy with a hammer.

PN

d) I’d rather sit out on the patio.
DFSAUCH] 22 27t Qlol.

w
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M | really enjoyed your art exhibition, Tina.
w

a) Landscape paintings, mostly.
b) It’s a relief to hear that.
c) I'll tell her you said so.
d) Off the top of my head.

PN

w

(a) th7H SZst02.
(b) A US EoL] ¢t
(c) 2HolIA| E4lo|

(d) Xz g2,

o] E[H|2.
7| 2Rt

AL,

AeS=Z X7t ofoi 2
A HoPU 7IES LU= RIHAZLCE EE}F—M‘I( =
S2 Eolch BAPL o] HAIS Zeet J&0|I52 (a)t (d)=
&t SiX| gd= o1, "APt oo ISt U= thol thEkE

L2 Q4= OIXI0I22 (c) BA| SE0fl W] ik

art exhibition oz Al landscape painting £Zst
relief ot=, ot off the top of one’s head & 44zt 10|,
ZA0fM



M There’s a disproportionate number of men in
this class.
w

a) The lecture just started.

b) Your grade is based on that.
c) I’'m sure he can help tutor you.
d) That’s common in engineering.
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W Someone put in an offer of $400,000 on the
house!
M

a) It’s got four bedrooms and two bathrooms.
b) They plan to spend it on fixing it up.

c) Take it before they change their minds.

d) Now we only have a few more to go.
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M You should get your car’s engine checked

<
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before your trip.

) | should have mentioned it to my friend.
) The trip is mostly for business.

It's on my list of things to do.
| hope the car isn’t damaged.
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Part Il

M Am | late? Have you been waiting long?

| can’t remember what we agreed.
I’m sorry about the directions.

Are you okay? Why the long face?
No, | arrived a few minutes early.
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M The wedding kicks off at 3, right?
W According to the invitation.
M How long will it last?

At the church downtown.
| expect it’ll be done by 5.
Make it enough for three.
Their marriage won’t last long.
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W Why hasn’t this document been filled out?
M | thought I’d do it tomorrow.

W But the boss needs it immediately!

M

a) Well, let me help out.
b) All the data has been put in.

(
(
(c) Sorry, I'll get right on it.
(

d) That’s what I've been saying.
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M Which team do you think will win the Super

Bowl this year?

W | think it’s a toss-up.
M You mean the chances are exactly 50-50

between both teams?

w

(@) You don’t know until you toss a coin many
times.
(b) I don’t know which teams play in this year’s
Super Bowl.
(c) Wow. Are you saying that both teams scored
50?
(d) To be honest with you, | don’t really care who
wins.
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M What TV programs do you like?

W | love watching sports games. Baseball and
soccer are my favorites.

M Do you watch TV often?

w

(@) I only watch it for certain movies or TV dramas.

(b) That’s why watching TV too much makes
people dumb.

(c) ’'m not a couch potato and watch only big
games.

(d) Yes, | go to the baseball park about twice a
month.
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W This is a token of my appreciation for your
help.

M Oh, you shouldn’t have. | can’t accept it.

W This is nothing expensive. It’s just something
| made myself.

M

(a) It’s a really good idea to chip in for our boss.

(b) How much should | pay if | want to buy it?

(c) But we cannot receive anything from our
clients.

(d) Why did it take so long if you made it
yourself?
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W What are your single room rates?
M 65 on weekdays, 75 on weekends.
W I’d like to book one for this Saturday.

<

CiRle| MBS W 4 girkn SR I3 Hxjel Yt

A1 LHE

(a) Sure, I'll meet you there.

(b) I think I'll be out of town.

(c) How many rooms do you need?

(d) That’ll be 75 dollars, please.
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M Well, I’'ve got to run and catch the bus.
W The bus? | thought you were going downtown.
M Yeah, don’t any buses go there?

=

a) You'd be better off taking the subway.
b) Don’t take it out on me.
c) Sure, I'll call you when | get there.
d) Yes, you need to buy a ticket first.
siA M X7|, L A Fosq Foi7tof gt A 2ot
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M Better bundle up. It looks frigid out there.
W You know, we could just stay home.
M No, we promised we’d visit my mom.

=

a) She’s going to be visiting soon.

b) I’ll grab my mittens, in that case.

c) Thanks, that’s very honest of you.

d) The weather should be temperate.
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M How was your tennis tournament?

W Really fun. And | did better than | expected.
M That’s great. Are you sore today?

w

a) | made sure | was very careful.

b) You should come watch next time.

c) | couldn’t play the final match.

d) Only a little, but it was worth it.
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M We’ve been waiting for a meal for ages!
W They’re a little slow, but let’s be patient.
M Are you serious? It’s been over an hour!
w

a) Well, at least my dish was tasty.
b) Oh, now you’re exaggerating.
c) Right, we’d better get in line.

d) I'll trade you mine for yours.
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Part Il

Listen to a conversation between two friends.

M Hmm... this receipt total seems too high.

W Let’s take a look at each entry.

M Well, I’'m not finding any errors at first glance.

W Here. They charged us for four drinks and we
only had two.

M Aha. That must be the problem.

W Pll call over a waiter and let him know.

Q What is mainly being discussed in the
conversation?

a) How many beverages to buy

b) What they will order next

c) Being overcharged on their bill

d) Examining the problems with a reservation
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Listen to a conversation between two colleagues.

W What’s our schedule looking like this Friday,
James?

M Friday’s going to be a busy one.

W Oh dear. | was hoping to take a three-day
weekend.

M Why not take Monday off instead?

W Would that make things easier for you?

M Definitely. Monday should be pretty slow.

Q What is the main topic of the conversation?
(a) Days of the week that are busy

(b) Assistance that the man requires

(c) What the schedule is for the week

(d) When the woman should take a day off
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Listen to a conversation between two acquaintances.

M It was great hanging out with you tonight.
W Likewise. | had a blast. You’re a lot of fun.
M Forgive me for asking, but are you dating

anyone?

W No, I’'m not spoken for. Why do you ask?
M Well, I’d really like to take you out sometime.
W I'd like that. Give me your number, and I’ll call

you this week.

Q What is the man mainly doing in the

conversation?
a) Talking about a party he attended
b) Inviting the woman on a date
c) Thanking the woman for a good time
d) Delivering news about a friend
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Listen to a conversation between two colleagues.

W Are you looking forward to retiring next month?
M I’m actually a little anxious about it, to tell the

truth.

W Really? How come? You finally get to slow

down and relax.

M But I’'ve never had this much free time. It’s

very different.

W That’s understandable. | know it’ll be a big

change.

M I’'m already making a long to-do list to keep

myself busy.

Q Which is correct according to the conversation?

a) The woman wants to find another job.

b) The man has been waiting to relax.

The woman is looking for retirement advice.
The man is planning to end his career.
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Listen to a conversation between two acquaintances.

M My niece is applying to Branson State College.
W Really? | went to Branson State.

M Oh, | thought you graduated from Camberton.
W | did, but | transferred there from Branson

Listen to a conversation between a couple.

W OK, all our skiing equipment is in the car.

M You packed the goggles, hats, and helmets?
W Yes, and the lift tickets we bought online.

M And what about the gloves?

after three semesters. W Oops, | think | forgot those.

M You didn’t like the state college? M | know where they are. I'll go grab them.
W Their classes weren’t challenging enough for

me Q Which is correct according to the conversation?

(@) The couple are unpacking their skiing gear.
Q Which is correct according to the conversation? ! . (b) The woman already packed the goggles.
(a) The man’s niece is a Branson applicant. (c) The couple need to purchase lift tickets.
(b) The woman was a professor at Camberton. (d) The man is unable to find the gloves.
(c) The man thought the woman disliked her
college.
(d) The woman found the Branson classes difficult.
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Listen to a conversation between two friends.

W | was in Belgium last week to attend a
business conference.

M That sounds really great. How was Belgium?

W It was very beautiful, but too cold for me
because | didn’t bring any winter clothes.

M Too bad. Did you have some time to look
around the country?

W Not really. My conference schedule was so
tight that | had meetings all day long.

M If | were you, | would’ve skipped the
conference for a tour around the country.

W [ wanted to, but | couldn’t miss the conference
since | was chairing it.

Q Which is correct according to the conversation?

(@) The woman missed the conference and took a
tour.

(b) The man went on a business trip with the
woman.

(c) The woman caught a cold in Belgium and
stayed in the hotel.

(d) The woman was in charge of the conference
and had meetings all day.
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Listen to a conversation between two friends.

W | wish you’d play your guitar in public more.

M Thanks, but I’'m happy just playing for myself.

W Don’t you want people to hear how well you
play?

M Well, I’'m not seeking to impress anyone.

W So what do you get out of it?

M It actually helps me deal with stress.

Q Which is correct about the man according to
the conversation?
(a) He plays guitar for money.
(b) He is arrogant about his ability.
(c) He is learning to play the guitar.
(d) He finds guitar playing therapeutic.
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Listen to a conversation between two colleagues. Listen to a conversation about retirement accounts.
M Does our company cover dental visits? M [ just don’t get retirement accounts.
W You pay the first $200 and the company ! W Are you having trouble with yours?

covers everything else. .M I'm trying to figure out which kind to set up.
M Okay. That's a lot of money, but it still helps. . W Are you serious? You don’t have a retirement
W Yes, it’s not ideal. But it’s something at least. account?
M | need to get my teeth checked, so it’s good M No, | never used to worry about it much.

to know. W You’d better set one up as soon as possible.
W Just make sure you save all your records and ‘

Q What can be inferred about the woman from
the conversation?

She is unclear about her retirement options.

receipts.

Q What can be inferred from the conversation? a

b

=

(@) The woman is critical of the company’s

(

; i (b) She works as the man’s financial advisor.
policies. (
(

-

c) She is surprised at the man’s nonchalance.
(b) The man is facing serious health concerns. 1 . (d) She hopes to establish a retirement account
(c) The man is trying to learn about insurance : 3 soon.
coverage. e
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About 15.7 percent of our population lives in
poverty. What’s more, millions of others balance
on the brink of the poverty threshold at this
very moment. The only bulwark preventing their
backward slide is the antipoverty efforts of our
government. Federal aid in the form of jobless
benefits, tax credits for workers, and the food
stamp program buoyed 4.5 million Americans in
2018. These individuals would otherwise have
slipped into poverty. To keep our country on the
right track, the government must maintain its
relief and recovery efforts.

Q What is the main topic of the talk?

(@) The rise of poverty in America

(b) The critical necessity of federal aid

(c) The popularity of antipoverty initiatives
(d) The cost of government relief efforts
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Now, class, to return to our discussion of soccer’s
early history, it’s important to note that its precise
origins are difficult to pinpoint. There are records
from the Han dynasty in China indicating that
people in the second century used leather balls
and kicked them across a field into small nets.
Similar evidence exists for the Romans, Greeks
and Japanese. But modern soccer has its roots in
England. In medieval times, the sport was rather
brutal, and players would engage in punching,
biting and kicking to win the game.

Q What is the main idea about soccer in the
lecture?

(a) Different cultures followed the same rules.

(b) We can’t know by whom or where it was first
invented.

(c) There are different rules in different countries.
(d) It first appeared as a violent sport in England.
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. Take a plastic spoon and rub it in your hair or
' on a sweater until the spoon acquires a static
charge, as evidenced by the attraction of the
spoon for the hair or fibers on the sweater. Turn
on a faucet so that there is a very thin stream
of water. Hold the spoon close to the water and
you will see the stream of water bend. What just
happened? It’s called electron transfer. Friction
will cause electrons to transfer from one material
to another if one of the materials exercises a !
strong attraction on them.

Q What is the lecture mainly about?

(@) How to fix a faucet

(b) How electrons are created

(c) How to get ionized water ‘
(d) How electric charge works
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. The Agriculture Committee says milk prices are
‘ expected to rise in the next few weeks, reaching
$4.50 for a gallon, an increase of 75 cents.
Officials say they have discovered a dangerous
bacteria in milk sold by the country’s largest
producer. This means the milk supply will drop
significantly, which will drive up prices. Smaller
producers are working to increase their output,
which may help bring prices down in about two
months. 1

Q Which is correct about milk prices according
to the news report? 1
(@) They should return to normal in a few weeks.
(b) A health concern is causing them to increase.
(c) They could rise higher than $5 per gallon. ‘
(d) They are dropping due to an increased supply.
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As the temperature of a liquid changes, so do
its behavior and properties. It has been known
for some time that these transformations
occur in particularly quick succession as a
liquid approaches a transition point known
as the glass transition temperature. Yet, MIT
scientists recently discovered this is not the
only transition point. There is another one at a
higher temperature, where the properties of a
liquid again undergo drastic change. The newly
discovered transition point is being called the
dynamic crossover temperature.

Q Which is correct about liquids according to
the talk?

(@) Their behavior at a glass transition temperature
is well known.

(b) High temperature changes are still a mystery
to scientists.

(c) Few can be heated to the glass transition
temperature.

(d) They never reach a dynamic crossover
temperature.
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Broaden your horizons and awaken your senses
this weekend by attending Florida’s annual
celebration of experimental and free-form jazz—
the Threshold Festival. This year, the very best
musicians from around the country and abroad
are coming to open minds and spark inspiration.
There will be performances by Ann Kofax and the
Clutch, Tel Aviv punk quartet the Brass Ascent,
and electronic violinist Will MacKenney. Due to a
last-minute cancellation, Aubrey Tucker will lead
the jazz workshop at Studio 310 this Saturday.

Q What can be inferred from the advertisement?
(@) This is the second year of the Festival.
(b) Ann Kofax and her band are from Florida.

(c) Aubrey Tucker has expertise in the field of
music.

(d) Tel Aviv’s quartet is attending for the first time.
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Today, let me recommend a wonderful vacation
spot to you! If you’re looking for a place to
escape and unwind, Lakeside Resort offers a
beautiful weekend vacation just a short drive
away. We're located only 45 miles north of
the city, and you’ll find yourself surrounded
by trees, hills and beautiful Lake Madison.
The five-star Lakeside Resort has established
an identity for itself within the town’s wider
hospitality industry that is synonymous with
exceptional staff, service and amenities. Our
concierge can arrange horseback rides and boat
excursions, and we offer a number of activities
for children, so you can spend a little time alone.
Additionally, there are memorable events from
July through December. We share the nearest
beach with sea turtles which hatch seasonally
during this period. We participate in efforts to
protect the sea turtle population and watch
baby sea turtles take their first steps towards
their home in the ocean. All the guests are
given a chance to witness this incredible event.
Make your reservation at LakesideResort.com.

Q37 What is mainly being advertised?

(a) A relaxing and convenient getaway experience
(b) An introduction to various outdoor activities
(c) A family-oriented trip to a foreign country

(d) An escape for people seeking adventures

Q38 Which is correct about Lakeside Resort
according to the advertisement?
(a) It is located further away from the town.
(b) The local residents don’t prefer it to others.
(c) It provides various activities only for adults.
(d) Special events are offered during certain times
of the year.
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Today, let’s discuss the widespread misconception
that the use of electronic media has negative
effects on all aspects of society. The steady
proliferation of electronic media has caused some
to view screen-based text and literature with
suspicion. They harbor qualms concerning the
negative influence of digital media, accusing it of
making today’s readers inattentive and fickle. In
so doing, they imply that the media of the past—
that is, print media—always held readers rapt
and compelled them to finish everything they
started. But these characterizations of print media
are idealized and, frankly, untrue. If advertising
companies are targeting global subscribers,
then print is not the medium they should go for.
Instead, the Internet has a much wider reach than
print media. Indeed, there are many limitations
when it comes to attracting various audiences
as newspapers may be available to only certain
subscribers. On the other hand, people can
get access to the Internet from anywhere and
everywhere. Plus, the lifespan of print media is
very short as most people tend to throw them or
keep them aside after a reading. Therefore, we
have to keep all these matters in mind and plan
wisely to make the optimum use of print media.

Q39 Which is correct according to the lecture?

(@) The status of electronic media is rising steadily.

(b) Some blame print media for making
subscribers easily distracted.

(c) Print media are readily available for people
who want information on the Internet.

(d) Advertising companies tend to prefer
newspapers to digital media.

Q40 What can be inferred about the speaker?

(a) He is skeptical about the benefits of electronic
media.

(b) He doubts readers of the past were more
attentive.

(c) He wants today’s readers to be more perceptive.
(d) He supports efforts to promote print books.
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31(d 32(a 33(d) 34(c) 35(d)
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37(c) 38(c) 39(b) 40(c)

W I’'m thinking about looking for a new
apartment.

=<

a) It is a great building to live in.

b) | couldn’t agree with you more.

c) | wouldn’t look at it that way.

d) | think you can find a better place.
shiA W A OJIES &7t 242t S0[0k

M

(@) A7Ioll 2§ £ 7iS0lok.
(b) ul Zoil HCEo= Solat.
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72tn S35 F= (d)7t 7HE RIHA-ELE place= ORI 2
apartmentZ 712/zZIct,
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o{2] couldn’t agree with ... more ~2| Zof| THo= Solsict
look at ~0f chsl 45t

M [ can’t seem to find my subway card, and I’'m

late!
w
(@) I'm sure everything will pan out.
(b) You’ll need to recharge your card soon.
(c) We can take the next train instead.
(d) Don’t worry. Just use mine for now.
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a) Yeah, it’s one of my favorites this year.

b) | had a hard time understanding it, too.
I don’t know. It seemed fine to me.

| wasn’t expecting to feel so emotional.
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M I'm at a total loss over what to do. W To check the amount you owe, | need your

w account number.
(@) No, | saw something there. M
(b) Yes, we should consult them. (a) It’s 437812.
(c) | feel stumped about it as well. (b) I made a payment Tuesday.
(d) You can have one if you'd like. (c) I think the bill is lost in the mail.
—————————————————————————————————————————————————————————————————————————————— (d) Can you repeat the question?
shA M 2 SHok EX| HY ofH 22 220
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w M How should | address you?

(@) No, | don’t photograph very well. w

(b) Let’s take a photograph together. (@) It’s 102 King Street.

(c) | believe justice requires courage. (b) ’'m moving out soon.

(d) Do you want me to retake your picture? (c) Call me by my first name.

—————————————————————————————————————————————————————————————————————————————— i (d) 'm a new employee.
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M How are you liking your physics class?
w

a) It meets very early on Wednesdays.

b) We're starting a new unit this week.

c) It’s rigorous, but really interesting.
d) Dr. Daniels is our instructor.

(d) CHUHA BEAREO| 22| ZHAOE
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M Look at how full the ski mountain’s parking lot

is.

w

a) The roads are a mess with the snow.
b) Lift tickets are discounted as well.
c) I'll ski down first followed by you.
d) The slopes must be so crowded.
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W Can you sign us up for the hiking trip
tomorrow?

a) The hike takes about 90 minutes.

b) I’'m sorry, but it just filled up.

You’ll see a lot of interesting animals.
| don’t think it fits with our plans.
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M Can you recommend a shoe store nearby?
W There’s a discount shop about a mile away.
M Oh, I’'m looking for something nice to wear.

=

) | want you to dress nicely for your job.

) There’s a better shop a little further away.
) Well, | just want you to be comfortable.

)

There’s a great gift shop not far from here.
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M
(@) I think they liked it very much.
(b) Yes, but only a few showed up.
(c) I'm looking forward to it.
(d) The assignment was too hard.
A W oK $FE&2 OELIR?
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M
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W How was your workshop yesterday?
M It was a disaster.
W Why? | heard a lot of people signed up for it.

IHH|, A

W Is Wilson handling the Claymore account?
M He was actually replaced.
W It must be Greta, in that case.

<

a) | wasn’t briefed on the specifics.

b) Yes, with a degree of discretion.

c) | can pass along your interest to her.
d) No, Wilson’s in charge of it.

W 2i20| 220]20f IS 2D UkR?
M AW 3 mAER0R,

W IO B TeEEe.

M

(a) = A2 LSOl chsH =11 1x] B30l
(o) Ul of= F=o| FEoRe

() SHAI0] BHIAE ol 22 =2l

() Otk 20| EHBHT R0l

2 Az EERlol sl FESk= oXtollAl XiMISH
1 5= (a7t 7+ HEsitt (b)= yesZ AlRfst

Q= 0| 4&mt oigalx] 41, (d)= Xzt HRKHIH o 2t

ek

ﬂ

replace tHxGICH brief ~ofA| 2
degree E= discretion (x?) 2i2{(#) pass along ~2

TSIt

6

%8 & o=t

Zrt specifics Al LI

sie =X7E ot %’.‘_'% Solott 2 =iEof
s = |

M | hear you got a promotion. Congratulations!
W Thanks. It’s a lot more work, but better money.
M So, you think you’ll keep the job for a while?
w

a) It could take ages to get a promotion.
b) It’s nearby and we can have lunch.

c) At least for the next two years.

d) | think you would like working there.
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W This job is the toughest I've ever had.

M But | thought your uncle was your boss.

W He is, but he’s not giving me special
treatment.

M

a) It's a tough job but | admit it pays well.
b) | guess that’s fair to the others.

c) You got the job on your own merits.

d) You must have a close relationship.
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W Mark, did you get my email about the M How was the interview with the applicant?
meeting? W He has experience, but doesn’t communicate
M An email? Nothing’s in my inbox. well.
W But | sent it over two hours ago. i M Are you interviewing other candidates?
M i LW
(a) Oh, at that time, | was out of my office. | (a) Yes, a few people have asked about the
(b) Let me give you my email address. ‘ position.
(c) I’'m afraid | can’t help you right now. (b) I think they’re going to eliminate the job.
(d) It might be sitting in my spam folder. (c) Yes, there are a few more schedules this
777777777777777777777777777777777777777777777777777777777777777777777777777777 week.
S W Ol S0 it A [ Horoie? (d) I need to ask better questions next time.
M olMio|e? g2 mxSf olfA= elole. e
W SRR AR Cf Foj| 2=, sl M RIERIIe] HEE 00127
M W O= 282 U2 QX AS0| & QIR
(@) OF, T11j Xt AFRAL] giZ{012. " HIE AEASE HES mALRT
(b) ® oMY FAE =2
(©) XIZS =9} =21 4 210i. (@) dl. 21 Xf2lofl cHeiA R ARZIE0| 22RH0IR.
(d) ™ AW HloUsh YSX|E 2312, (b) M| 4zl I X2IE HH A Zote.
(c) ul. ofH Z=ofl 2o H JH of S loi=.
s OfXk= & AlZH Tof olniYS BRiCt st WA= 22 HX(E (d) ClStHoll= o £ XS ot sl
ofl Sicta Stk miak olmiYel stol| chsl FEah= (d)7 =i
SICh odxte| OtR[Et 2 two hours agogS £1 (@) n=X| & ae DRXIROl TS XPXISE HES = K| Sen=, (o=
= Zofsic} olHle] ZXHof Ha 0P IBhn Yooz ()= HE 2=ofl chsh oloF7 [ok= (C)7F 7FE RIHARCE
X1 2. opol oqu ERtel Ol FAE Al U= JE0IS 0iz] applicant x|2xl=candidate) eliminate SioHCt
Z (b)= ofAtisic]

02| inbox 2 EX[gl spam AM(ZTA FXtHY)

17 W When can we grab a drink this week?
T N i M I can probably meet you on Thursday.
LW Are you interested in our logo design service? W Can we pick a spot near downtown?
M Yes, Id like to get a logo done. 1 PM
W What are you looking for in the design? (a) | can be there in time for dinner.
M ‘ (b) I have a meeting over there, so it works.
(@) It brought out the name of my company. (c) It’'s a new pub on Seventh and Broadway.
(b) Something that catches the eye. (d) Sounds like it’s a bad time for you. :
(c) That’s OK, I've already found it.
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M My quote for this project is 550 dollars. Q oiste] e ug2?
W When could you have it done by? | (@) 71712l 2%

M It’ll probably take me till the end of the month. ) SAZIARS 2
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(c) S0l chaf e Al
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a) | think | can give a better quote. S LR S5 AR SH0F Shet =AW P Z0pt 248 1|

(

(b) Sorry, we need a faster turnaround. Lt AISIO2 (a)7} REIOICH EAP7F TRl0] Lt AlBlolA] Aalst
(c) Well, as long as you’re happy there. = AfO| CHa B B PIZaHS mojoE ()= FQ LeoR =
(d) The project certainly was excellent. 2 ofr

0iz] paper jam &0| Z2 in arush ofF tteeA  ridiculous

sial M O] 2ol chet H| 24 . .
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(©) & a0l Ghlo] =57 |et sictee, Listen to a conversation between a husband and a wife.

W Ugh, I'm so tired. Today was crazy at work!

s ZilS MRS 4~ U= 7[5l tisl =CIE st QUCh MAISH 2 M What happened? | thought things had slowed
FYUHC O el ZRUCkn SkAH & o YR ELof St Wsh= down.
(D)7t 7 AIAAECL turnaroundz2hs BSS 2ECH 2 W They did, but we got a rush order to print a
TEHE 15 & X, LS 2Rloh= LFQ! X EE 4= ¢t brochure.
i:ﬁf:g;o’%}m OFERIX] 8= (), APt BRIcH= (d)E M Oh, that sounds really stressful.
i W And the client had no idea what he wanted.
01%] quote 742 turnaround EXS ELH7 (o] 25 AlZH M Here, sit down and relax. Tell me about it.

: Q What is the woman mainly doing in the
Part il conversation?
! (a) Talking about a difficult day
b) Reminding him of evening plans
c) Retelling a story she heard
Listen to a conversation between two colleagues. d) Reviewing plans for a project ‘
M Do you know what’s wrong with the copy

machine? sl LiET}OfLe) THEHE SoAlR.

W | think there was a big paper jam. W O} L} &2t mms), SIAtofA] =AI0] o]l

M Should I try and fix it? I'm in a rush to make M 22 ol QURA0f? LS0| & TS| Fisz|n QUrtT AMZIsH
copies. g,

W | think a few people have tried, but no luck.
M This is ridiculous. What am | supposed to do?

W Yeah, | know. But | think a repairman is on his
way.
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Q What is the conversation mainly about?
a) A piece of equipment out of order ©
b) How the copy machine should be used ©

(

P~

(
(
(c) Alternatives to making copies
(d) Who to contact about a problem
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Listen to a conversation between two colleagues.

W 1 just can’t stand having to do this every
month.

M That’s not the main issue for me. It’s the fact
that we don’t get paid extra for it.

W You're right. This isn’t in our contracts, is it?

M Not only that, but you don’t see any of the
administration doing it, do you?

W How can they do that?

M It’s simple. They have the power and we don’t.

Q What are the man and woman mainly doing in
the conversation?

a) Complaining about an unfair practice
b) Accusing the employer of harassment
c) Praising the employer for their power
d) Quitting a job without getting paid
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Listen to a conversation between two friends.

M Hi, Judy. It’s good to see you. | enjoyed

meeting you last week.

W Same here. I've been hoping to meet people

in the music scene.

M Well, I'm throwing a party next week. A lot of

musicians will be there.

W I'd love to come. And | heard that you’re

friends with Elaine.

M Oh, yes. We've known each other for years.

We’re very close.

W | knew her in college. Please give her my

regards when you see her.

Q Which is correct according to the

conversation?
a) They recently moved to the same city.
b) They have a friend in common.
They listen to the same musician’s album.
They met at a party the week before.
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Listen to a conversation between a couple.

M | thought we might go to the carnival today.
W Actually, the carnival’s not my kind of thing.
M Oh? Then what would you rather do?

W Let’s go see a new exhibit at the history
museum.

M I’d be up for that. You mean the museum
uptown?

W Yes. And then we’ll end up near a new
restaurant | want to try.

Q Which is correct according to the conversation?
The woman offered an alternative plan.
The woman lives nearby the museum.

&

b

-

c) The man doesn’t enjoy visiting museums.
d) The man has never been to a carnival.
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Listen to a conversation between two strangers.

M Nice to meet you, Cindy. Where are you from?
W | was born in Seattle, but I’'ve lived all over.
M What’s been your most exotic home?

W | spent two years in Zambia with the Peace
Corps.

M And where do you live now?
W In Brooklyn with my husband.

Q Which is correct about the woman according
to the conversation?

a) She has relocated often.
b) Her birthplace was Zambia.
c) Her time in Zambia was as a tourist.

d) She lives with her husband in Seattle.
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Listen to a conversation between a representative and
a customer.

M What are the benefits of this cell phone model?

W You can use it in over 50 countries.

M And the rate stays the same?

W Yes. It’s locked in at 10 cents a minute.

M It looks like it also has a universal charging
adapter.

W Right. You can recharge it anywhere in the
world.

Q Which is correct about the phone according to
the conversation?

a) It is restricted to 15 countries.

b) It provides calls at varying rates.

It charges users up to 10 cents a call.

It has a globally compatible charger.
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Listen to a conversation between two acquaintances.

W Do you know of any companies that are hiring
these days?

M | know of a few open positions. Why do you
ask?

W It’s time for me to switch jobs. I’'m really
unhappy with mine.

M Do you think conditions might change
sometime soon?

W | doubt it. | work so hard and | feel like they
just take me for granted.

M | see what you mean, but you might consider
telling your boss how you feel.

Q Why is the woman looking for a new job?

(a) She doesn’t like the work she’s asked to do.

(b) She is hoping to increase her income
significantly.

(c) She doesn’t feel appreciated by her supervisor.

(d) She isn’t getting along well with her co-workers.
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Listen to a conversation between two colleagues.

M Are you planning to attend the keynote
address this afternoon?

W I’'m not sure. I've heard the speaker before
and wasn’t that impressed.

M Oh? I’m really interested in hearing about new
brain research.

W In that case, you should attend. You'll learn a
lot from him.

M That’s the most important thing. | really want
to hear from an expert.

W Of course. | just hope the speaker is more
engaging this time.

Q What can be inferred about the keynote
speaker from the conversation?

(@) He is very knowledgeable, but not very
entertaining.

(b) He has received awards for his medical
presentations.

(c) He has much experience with public speaking.

(d) He will be telling stories rather than sharing
facts.
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Listen to a conversation between two friends.

W I’'m feeling awful about Shelly.

M Is that because of last night?

W Yeah, | left her alone at the concert.

M But you weren’t feeling well. You had to leave.
W Even so, | bet she wasn’t happy at my leaving.
M Maybe you should just call her.

Q What can be inferred about the woman from
the conversation?

a) She often suffers from illnesses.

b) She is remorseful about her actions.

She does not enjoy going to concerts.

She will receive an angry call from Shelly.
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Part IV

Now let’s turn our attention to a feature of
hummingbird migration. As you know, most birds
migrate in large flocks, but the hummingbird is an
exception for several reasons. First, the birds are
so small it’s difficult for predators to detect them.
By flying in flocks, hummingbirds would put
themselves at greater risk. They must also stop
frequently to feed from flower blossoms, but it
would slow their travel if many birds had to stop
in the same place to feed from a single flower.

Q What is the lecture mainly about?
(@) The routes of hummingbird migration
b) Details of the hummingbird’s diet

(
(c) Environmental reasons for bird relocation
(

d) Unique qualities of hummingbird migration
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During tight financial times like these, states
looking for ways to curtail spending might take
their cue from Governor Ana Garcia Rodriguez.
Her tactic is to cut costs by reforming financially
hefty systems in her state. For example, the
cost of housing state prison inmates jumped
from $12 billion a year to $52 billion a year in
the past decade. To reduce that expense, Ms.
Rodriguez has introduced legislation that would
enable judges to tailor sentences to crimes, with
nonviolent offenses qualifying for shorter prison
stays.

Q What is the main idea of the talk?

(a) Ms. Rodriguez has a plan for trimming her
state’s budget.

(b) Ms. Rodriguez is faced with running an
inefficient state.

(c) State governments are doing their best to
reduce expenses.

(d) Criminals with no history of violence deserve
short sentences.
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Medical ailments constantly plagued nineteenth-
century composer Fryderyk Chopin, who died
at 39. Looking back on the composer’s personal
history, medical experts have offered a host of
diagnoses that might explain his health problems:
cystic fibrosis, depression, heart disease. Yet
none is completely convincing. But a paper in
the journal Medical Humanities offers a new
conclusion about Chopin’s health that explains
many of his symptoms. In this, the study’s
authors conclude Chopin suffered from temporal
lobe epilepsy, a seizure disorder.

Q What is the main idea of the talk?

(@) Chopin died unexpectedly from ill health.

(b) It is difficult to diagnose Chopin’s health
problems.

(c) Health problems suffered by Chopin were
numerous.

(d) Chopin’s health issues were perhaps due to
epilepsy.
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I next want to talk about anaerobic organisms,
organisms which don’t require oxygen to grow.
Some of these life forms can make use of oxygen
if it is available. This sort of anaerobic organism
is known as a facultative anaerobe. There are two
other classes of anaerobic life. There are those
that can endure oxygen environments though
they cannot use oxygen, and others that cannot
tolerate it at all. The former type is designated
aerotolerant while the latter is called an obligate
anaerobe.

Q Which is correct about anaerobes according
to the talk?

a) Most of them die if exposed to oxygen.

b) Facultative anaerobes try to avoid all oxygen.

c) They typically prefer oxygen-free environments.

d) The aerotolerant variety can utilize any oxygen.
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Fragrant with the aroma of freshly baking pizzas,
South Street Pizzeria has the air of authenticity.
Indeed, it wouldn’t look out of place at all in a
real “pizza city” like Brooklyn or Chicago. Clearly,
owners Nora Elsom and Clarence Halliday know
pizzas intimately, which is why South Street
Pizzeria is such a success. When the two opened
up their first shop four years ago, it was an
instant hit in their South Royalton neighborhood.
Today, they’re still going strong.

Q Which is correct according to the review?

(a) The pizzeria is located in Brooklyn.

(b) The pizzas are made Chicago style.

(c) The pizzeria is celebrating its grand opening.
(d) The pizzeria remains popular in South Royalton.

My staff and | invite you to experience an
unparalleled gastronomical outing at La Violette.
Here, Charleston’s long-lost appreciation for
culinary art is being renewed, one diner at a time.
Years ago, feeling disappointed with Charleston’s
dining scene, | left home in search of flavor and
culinary stimulation. My quest took me overseas
where in the cuisines of France, Morocco,
and Thailand | found what | sought. The menu
at La Violette allows local diners to taste for
themselves these foreign tastes which inspired
me to open the restaurant.

Q What can be inferred about La Violette from
the advertisement?

(a) It ranks among the many upscale restaurants
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¢ (b) Its menu features French, Moroccan, and Thai

(c) It received a complete menu makeover just :

in Charleston.

influences. :

recently. :

¢ (d) Its food may not appeal to Charlestonian ;

tastes. :
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Aesthetics is a branch of philosophy that pursues
aesthetic experience such as art, beauty and
taste, and explores the fundamental principles
of art and criticism. Although its own history
follows a path parallel to both, aesthetics is
separate from the history of art and the practice
of art criticism. It is not the empirical study of
the psychology or sociology of art, nor is it
the same as aestheticism. Today, | will outline
a brief history of Western aesthetics from its
eighteenth-century foundations, back through
earlier anticipations from the classical period.
Western aesthetics typically refers to Greek
philosophers as the earliest source of formal
aesthetic explorations. And then academia
encountered a slow revolution into what is often
called modernism from the late 17th to the
early 20th century. Indeed, German and British
thinkers regarded beauty as the most important
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experimental aesthetics was founded by Gustav
Theodor Fechner. In the early 20th century,

Q38 Gustav Theodor Fechner= 18| 801 O[stg &2

=71

the existing notions of beauty were challenged (@) 17A7] }
by artists, musicians and composers, so the (o) 1847
scope of art and aesthetics was broadened. (©) 19M71
(d) 20171

Q37 What is the main topic of the lecture?
(@) Introduction to philosophy

(b) Principles of art criticism

(c) History of Western aesthetics

(d) Analysis of aesthetic experience

Q38 When did Gustav Theodor Fechner found
experimental aesthetics?

a) In the 17th century

b) In the 18th century

c) In the 19th century

d) In the 20th century
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Thank you, everyone, for attending this meeting.
Unfortunately, | have bad news about our
graduate fellowship program. The funding for
the Young Achieving Scientists (YAS) fellowship
has not been renewed during the administrators’
recent annual budget review. It’s their belief
that the money formerly allocated to supporting
the work of YAS fellows would be better spent
on other climate research programs. | have
registered my misgivings to no avail. What this
means is that your projects have no chance of
being funded by our organization after December.
Even if you think you may not be able to achieve
your goals, don’t be disappointed yet. There will
be three types of graduate fellowships supported
by endowment funds of other organizations
and annual contributions by companies. The
general eligibility requirements for candidates
are as follows. The applicant must be an
existing graduate student pursuing a course
of study leading to a Ph.D. degree. Also, the
laboratory which the recipient belongs to must
be conducting fundamental investigations for the
advancement of bioscience and biotechnology.
For more information, visit www.western.edu.au.

Q39 What is the main purpose of the talk?

(a) To explain the scholarship schemes to new
undergraduates

(b) To inform students about a scholarship
program change

(c) To describe the entrance requirements for
graduates

(d) To weigh the pros and cons of the existing
scholarship program

Q40 What can be inferred from the talk?

(@) New fellowships for YAS will become available.

(b) The speaker participated in the YAS fellowship
program.

(c) The speaker strongly protested the funding
decision.

(d) YAS has a chance of being funded next year.

=

2
o

A 0] 2|20 Badsh MM 25

A 7IE0l YAS HElEE 2ol 2=

= HAEEILCE Sl5|= 22| thst
Fela Z203of| 2ot Lk A’HOI UAELICE o RS atst
XHYAS) Halge 2ist xifg X|go| &EElol 212 Azt ot A=
oM HAFO| =|X| 2UELICE a52| dzk2 YAS 3ESEQ
CTE XHe =Xz offtol 2gw FMo| e 7|—.— G =
E2720f| M0l= A0l Lig A ks RYLCEL M= =
Em%ﬂxlﬂ}- E-lEl OEIO| ﬁL_lEl- OIl:H QEE ()1 -|I=IO| jXﬂEj} 12
= 0I—.—§— X3| 71520l Sfeh A X|E e 7isdol gl =
SLCL HIE o2i2e] SES 83 & gls A2 d2i=Rl
|Ijr OFx| MYSIRE= DRIAIR. Ml 71| Rl THE 7te] 7|18
o SAte] a7 |FZ0| USLICE XIEXIE flet 28t X2 A
2 ChSat ZEUch X| HAE2 HiAteelubye| el E= 7IE
Z2HO[0{oF BILICE X &6l U= AetAo] M ntstnt M
TS IE WHS 2lF 72Xl TS HEA
ECk www.western.edu.audl & B2 FEIF UELICE

Q39 g=lo| FE FH27?

(@) CHERMUAONA] EEZHI=0f| s AEst7 | LlshA

(b) SHES0lIA| ZEIZHI=HZol chal Lal7| sHA

(c) chst Z st eziof chsh AFst7 | LlshA

(d) 7IE ZEtg M=ol chsh HeES Hlw dEst| flshiA

o thistuo| ez =202 SolM YAS SES0i7 Xldsk=
|7} st Azt ofltof] 1228 0|2 2E ZelE(X| U2 HAS
da|n Ao FEH2 (o)7h 7H REsict

Q40 EsloiM F2S 4 s 7@?
(a) YASE 25t Mz2 &5t
(b) XK= YAS Zist2 =
(c) 2kxk= = %[ ’E’é,OiI LHsH Z
(d) YASE= uitol] x4

Yal
o

Aol 718 eipzoz
SR Sl0f, 23 122REI= YAS HISS HiES Al 2
51l EIRUCHS LIOICE ZoIM = i 2Z0IM S} o] 2
ol LS X7 RUCkD SRR ()2 F2& 4 Uk YAS &S

It ZEIF0| MEA F7IERClE g o+ gleez @E H
Cloz mEX| QEE Fofsir,
fellowship (chsteiadolA| =) &2 funding x12, ZHEXI

renew 245t administrator #5e! formerly oo
allocate (Ed =xi2 2lat) 2sict fellow (Sta, T2Z!
CHllo) 51 register (Z45HE) #E5iCH misgiving 2=,
202t to no avail 22 2/0l, &i=/0| protest stelsict
endowment 7|2 contribution 7|23) eligibility =z,
=l requirement X1z271 laboratory &/5i& recipient
28Xt conduct #ssich 4A6ICE advancement ZIE,

s

Ll

T

0
i)
0

st | 47
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16(d) 17(®) 18(d) 19(b) 20(c)

PART llI
21 (a) 22(d) 23(a) 24(c) 25(d)
26 (c) 27(d) 28() 29() 30(d)

PART IV
31(c) 32 (c) 33(c) 34(c) 35(a)
36 (c)

PART V
37() 38() 39(a) 40(d)

a) She can’t believe it, either.

b) It’s a pleasure to meet you.

c) Sorry, she’s on the other line.
d) It’s complimentary, of course.
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W Aren’t you looking for a roommate, Don?
M

a) Sure, | can introduce you to him.
b) | found one through the Internet.
c) How should | address you?

d) Yes, he’s a really nice guy.
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M | heard Josef kind of let you down.
w

a) Things are a bit slow-going.
b) Hey, what are friends for?

c) Oh, you don’t have to do that.
d) He didn’t offer me any help.
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M How'’s our stock of tablet computers? M You seem upset. Did something happen?
w § LW

a) They have remarkable functionality. a) It’s nice of you to ask about it.

b) We'll be sold out in no time. b) | expected you to be worried.

c) I'll take one if you’ve got it. c) | got some bad news earlier today.
d) For a limited time only. d) | wish | had an answer for you.
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W Should I invest in this hedge fund? W The salesman wants 25 thousand dollars for
M the car.
(@) Judging by their annual report, yes. i M
(b) With no down payment necessary. (a) My car has more miles than that.
(c) Well, I'm short on startup money. (b) I don’t mind giving you a ride.
(d) You'll never believe what | spent. (c) That seems quite unreasonable.
—————————————————————————————————————————————————————————————————————————————— i (d) I've been selling cars for years. ‘
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M | can’t access this document on the server.

=

a) That’s because it’s password protected.
b) | can set up your new email account.

c) Thanks for sending me the link.

d) Open the document and see.
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W Your hair never seems to get any longer.

a) Thanks, it’s a new style.

b) My stylist trims it weekly.

c) | like it best when it’s straight.

d) | admit it’s looking a little ragged.
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M Why were you late for the meeting this
morning?
w

(a) I'd like to take a day off for a medical check-up.

(b) Could you postpone the meeting to Monday
morning?

(c) My alarm clock didn’t go off and | got up late.

(d) I'm sorry, but | can’t attend the meeting
tomorrow.
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M Hi, can | help you with something?
W Have we met? You look familiar.
M Was it at the sales conference?

=

a) Ah, | knew I’d seen you before.
b) That’d be wonderful if it’s true.
I’'m just wondering where it is.
Your new haircut looks great.
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W Who was that on the phone? M Hi, I'm David. You must be new here?
M Someone from Dr. Rand’s office. W Yes, | just started as a photographer last
W Is there a problem with my appointment week.
tomorrow? M Great. Did you get a chance to meet the editor
M yet?
(@) No, the results were recorded. w
(b) I'll be there 15 minutes early. (@) I think she’s in a meeting now.
(c) I'm sure you’ll get well soon. (b) That’s her office in the corner.
(d) It was just a reminder. (c) ’'m really glad to be working here.
—————————————————————————————————————————————————————————————————————————————— ! (d) We met during my interview last Thursday. :
siA £ HERIIR?
HE M SR ST IR0R. aHiA M QHISHMIR, F HiolH=02. A2 241 20227

|, XIHZ=0f) AFRIZIR ARIHOIR.

w

M M

W LH A oflfol] 22 2X2te AULIR? w

M M ZRUL HERE= 2t BALR?
w

(@) Ok, Zik= 7|2=ANIL.

(b) 771 152 = Z Holl. (@) 24= XIZ 2ol L 7ol

(c) ghlo| 2 LIS Hatn T, (b) Foll U= A 2H2| AfRAol02.
(d) ' ollefs 22 Fai= oI, (c) 0171 YstA| =lof FH 7|2,

(d) xlct 2 MY off 2oL,

0II

sl Ol ROl FI2 ofer2 8
18 APIAP 7] 9i8 Sk

r

HAENZ, offot MBI B QU= LS
(

d)olet. remindert A m"'ﬂﬂ LIREX| E= Lol M2 28E AR oRl2| SE
75*8 o2 remind A of B(AoIZl BE &7IA7[CH= Xi5 A4 O I mES A2 tieX| (RS e F= (d)olck
0|22 Aot =X

0i] photographer AFEIAL editor HEIXt
0iz] record 7I=5ICH reminder &7 A7l= A

M Mary, | need someone to head the delegation.

M I heard you have a new manager in your W What about Maurice Sanchez?
department. M Actually, | was thinking of you.
W Yes, he started a couple of weeks ago. : W
M What’s the new manager like? ‘ :
W (@) It’s nice that you thought | did.
: . (b) Find someone better than him.
(a) He likes to play golf. (c) | suppose | could give it a go.
(b) He’s a perfect boss so far. ‘ . (d) I haven’t seen them in ages.
(c) He hasn’t started to like anything yet. .
i (d) He has a new secretary. M M o2, EHﬁqo T =2 eSS,
W 22|A MFAE ofufe?
siA M o] A0l FEEH0| ME 2Tt SUR. M AR S M2i5kT Q0L
W Ul Al £2E0] 2f 25 Zoj| U2 ARRE. w
M A 2EE2 oiR? (a) SHAIO| Li7} T340 AMZIHCH | TR,
W (b) TLECH T LIS ARIS OM=MR.
(a) 22X xl= Z Z0teiMR. (c) shH &l 2 5 US A 2o,
(b) XISZVIxl= st AN, (d) 252 2Bs0 2 #ofe.

(c) OF=! 2= Ot20 S0{ 5HX| 22MR.

(d) T0lI7= M HIMZF U0IL sl ERIS] DRXISE 20N CHEEEHS 0201 & HUXIR tet Shel

OIX}E 215k QUCkD OO 0o chat 42t i = oAt

shd EHAe| OEX|R L2 A2 2 FF0| o AR—IRIXIE = AoICh £ Yol= 0| XA wath 2to] onlE LIEHH= (c)7t
Aoz EXS ol gis Ao (b)et 2ol et 4=tk (@) FEBICE A (b)E Hoz Mz | 41LE himo] okl me7t
2t (c)= likeZE SAR! ‘Eotsictel onjz2 SUg mf 18 4~ U =|0{0F 22Hoi| ATk,
= gFolct,
01zl head OBt #x|ct delegation tiEEF give it a go
0ig] department £A ShH 5if =t



W Could you show me how to operate this
machine?

M Sure, but you'll find it’s pretty straightforward.

W It seems really complicated to use.

M

(@) Make sure you ask an expert before operating
this machine.

(b) Actually, nobody succeeded in using this
machine yet.

(c) Think of its versatility and you’ll realize how
cheap it is.

(d) It will tell you what to do once you turn the
power on.

sia W 0] 717iIE RSt B2 e FARIOIR?
(=14
= U

[ =
M SE0|% SiX|2F HY ZHHSICh= Z Okl 2 7ol
W AtSst7|of FE Sl 2ol=H2.

M

(a) 0| 7|AIE E=517| Tofl M2 I0IAH B S0EMIS.

(o) &2 Of=| OIR= 0| 7|AIE AFBSH= ol ME5HK| Z3Hoie.
(@

CHBEaH= 24 A215H AR Z0ft 44 21X] OFl o2,
(d) Ut RIS 7B 2 SO} BRI 7T} UBHE HoI2,

e HXE ZokE 4 UXEE L e Aoy Jeoz =20

KIAAHLL (2)2F (o)= 012t Hhhek=

0i2] operate %=sict straightforward zictst complicated

=2%st versatility CHicks  turn the power on &2
7Act

M What are your feelings on immigration?

W | support it for those who will find work and
pay taxes.

M What about people who enter the country
illegally?

w

a) | don’t know anyone in that situation.

b) My opinion on that is more complicated.

c) We have to address population growth.

d) | think tourism is great for the economy.
g4h2 0[2lol| Chsl OfFE 2fHS 71X AULIR?

S 7RI MES & MSoll tisiAM= XIXIEIch

= =
SYHOZ AU=SH= MES0l tHM=RT

21 Aol }5f U= ARIS B2l
20| Chet &l Zsh= & of BB
() 21 57+ IS ChE0{oF BiLIC,

(0) B AIS ZHofl SChm AiBtIct
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s Of2lofl et thatz, ofRk= 2ol 1 MEE U= ol2Ixtol ch

SiiAf= XIX[etota Sith =Ate] Opx|at 220l thsliA= =9 ol
ofl cht 232 Saiuk= (b)7t 71 =iEsict.

0iz] feelings on ~ofl thst 2|74 immigration 02! support

XIx[stct pay taxes MZE LiCH illegally 28xe=
address (2xIE) CHECE DAl population growth 2152
27t tourism 2

M Did you ask your accountant about your tax
problem?

W Yes, he needs time to look into it.

M So, he didn’t know the answer offhand?

w

a) He doesn’t want to rock the boat.
b) Sure, you can try if you want.
c) No, | talked to him last week.

PN

d) | guess it’s a complex issue.

M 3AMOIA g4l Mg Exloll chish S0IRIR?

W U, 3Z AmE AZI0| 2R8ICH SIEZER.

M O 37t siZMS HiZ SXUCh= 707
w

(@) O= BXISOE ¥27|1 HOo| 5iX| 2ot
(b) 2R, Gilo] HFICHA 5 IR,

(c) Of, Z2011A| X|k2=0i| 0J0F7[3012.

(d) 7| =&kt 2121 2 Zot.

sl S|AINTE E2 HEZ o FX| 242 201l X7t 2lotete Uett=

&ollM ofoll ciet iXte] 4210 00i1X|= 20| RAAZLCY, w2t
M =T 2X2E 22t A Zoh= (d)7F &EsICh rock the boat

= HEXRl #Ho| £2 UX| Zal (a)E 2R 1EX| =R
OltTt,

27

Py

0i%] accountant sl7lAl look into ~2 F=9| 7| Atm|ct

offhand =40l rock the boat ZXEnts 2or|ct

W If you ask me, | don’t think she’s the right
person for you.

M But there are good things about our
relationship.

W | know, but | can tell you’re not happy.

M

a) Sometimes you’re just too defensive.
b) Well, we’re trying to make it work.

c) I’'m trying to be a better friend.

d) | don’t feel any remorse about it.



sl W LISH S02CHH, JH= Ut b= Ao of A 2ot Part Il
M SEX|2E 22| 270 E22 FEE U01.
W ot sER|EHH |7t E=5ER] 42 2 L=, 21
M
(@) M=z 42 gto{=o|of, Listen to a conversation between two colleagues.
(b) 22| a2 of4x1 210, W Hi, Mr. Jones. You wanted to see me?

(©) = O L2 277} =f=2{n =2fsk= F0[ok

M Yes, it’'s about your presentation in the
(d) & 270l chah Ofet Qblo] 7HEE w77|X| LoF.

: meeting today.
H= GXOf|A| R t= W Oh, | didn’t realize you were there.

s ERtel Holnt Rt 9| fhelte =2 6
XRAle] A £22 FE Lt 2&5H= UEO|CE W2t EfE M | was sitting in the back and | was impressed.
Ol YEMS Hol= (b)7t 7Fe MESICE ofXte| =¢H0| Hhof=iol W Well, that’s very nice of you to say.
Zo2tn & 4 glom, Hlut %X 9ot Holck= 2ol X7 & M | think you have a talent for presentations.

2 7t E =2felths A S OAlSIT,
Q What is mainly happening in the conversation?

(@) The man is complimenting the woman.

(b) The woman is thanking the man for his help.
(c) The man is inviting the woman to a meeting.
(d) The woman is showing her presentation skills.

2
T

relationship 27 tell 2ct, witsict defensive 2oixiol
feel remorse 2lo| 7142 Lyt

M What was all that racket about? ol F A SRO| RIS SoAIR.
W Shirley is angry at me for eating her sandwich. W SHSSINIR, B4 M XS BXANR7?
M Oh, you shouldn’t have done that. M Hl 25 2 _|°|<>1|)\1 S| Bt AR 23t HH0HS.
W W Of, 77| Edsh AlX & SRR,
M Floil 2fot A=, LSS HUR.
(@) Don’t count her out so quickly. W O3 2Bl AL ZIARRILICE
(b) Sorry, | didn’t realize it was yours. : M Z2jHiEfolMofl ZHSO| A2 2 Zote.
(c) But she really overreacted about it. Q CisloM F2 LojLtn = U2?
(d) It’s easy enough to make a sandwich. (a) Exk= OIXIE 2Rt Ut
(b) Oixt= Xt =0 Cheh ZrAtsk QUL
sid M R 2 1 R0 (c) Xtz OIRIE 2leloil Zdhist Tt
W LHZ} X7 | AHEQIR|Z oM A2|7F 317 WHol. (d) X7t Xple] ZafFEo | 71 Hod 11 Qlet
M- OF, 124X| ZUAOIOFX] s XK OXIS E2iM ofxte] mRME0 LMol el 2SS Bt
w Oixte] majHIE|0|M 52{0] oLtk Ojok7 ISk QUCt. kA
() 1 OHE O Wl MieIAlZ|X] Ot RIS 242 (a)olct. (d)= it ool 2oft olck

(b) DIk, I Ul ZiQIX| SRto1.
(c) SHXIZE 1 of7} FL ;I HISS Hel 72,

(d) MELIX] 2= H FE 29

0{3] presentation 2% impressed 22 &2 talent x5
compliment Zzf5HcH

sifa OdXtel SES Xt LRt oo, KXt 1 Yol chell &
Slot7ALE BHetsk= LHEO] OJ01R! 4 Ut 1 oi| chsl Az|7t X|
LERCHD BHEiSH= (C)7F 7HE RIAZICE (b)= ofXt7H AalofA|

2 QU= 2o|H, (d)= sandwichZ gH=st &75o|ct,
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Listen to a conversation between two colleagues.

M When did you come back from your business
trip to Europe?

W | came back last week.

M You still haven’t recovered from jet lag, have
you?

W Yes, | have. | didn’t feel much jet lag this time.

M Good for you. Do you travel a lot?

W | go abroad on business almost once a month.

M Then you must adjust to new time zones
quickly, | guess.

W | normally do.

Q What are the speakers mainly discussing in
the conversation?

a) Adapting to new climates

b) Tourism abroad

c) The frequency of business trips

d) Recovering from jet lag

= 3% S20| (a1 SoAl2.
M S8 Z30M ot Sotes0lR?

W RIctZ0] 2012,

M Ol Alxt 2i=S 2 SHAHIR. J2IE?

W E=31012. ofoli= AlRjoll Oft IS Ha £ L7uI2.
M IS, ofS 2o SIILIR?

W IR o SUS 7i0| 3t Zoj 3t HS JixIe.

M I2i21 22 ARITHo| e | MS SR,

W HE JZ=

Q ol BHRIS0| 2 ofsts 227

(a) M= LMol 2517

(o) stel 2

(0) BRIz

(d) Alxioll i3t TZ0IM BkE5t7|

ollM E2| SlFelrt= 20| thatel

ofl chisH ojoF7 [BIHM R4Xiel Mg g E MIE LHEo|Ct

jet lag Alxloll 2ist |2 recover sl=sict adjust =EsICH
at=ct time zone AlZitH  adapt =&sict frequency
Hie
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el Z2olM S0k2 X7t H2 2Ho=z Qlsll AlXlo]| ofst o|=
FE L8022 (d)7H Feolct,
2ol 2t A2 OLE2 (b)= HESIX| 22, (cl= S 3l

Listen to a conversation between a husband and a wife.

| think we should get a bigger apartment.

But we’re so close to both of our offices.

| know, but we don’t have any room for
guests.

| see your point, but it will take time and
money.

Yes, but we’ve been really good about saving
this year.

Okay, then. Do you want to call a real estate
agent?

What are the man and woman mainly doing in
the conversation?

a) Discussing future living arrangements
b) Arguing about their apartment

c) Determining plans for their guests

d) Talking about the family budget

oot ofLe| LHEIE B2,

L A4ziQll of 2 OfIHER O|AIS 7ioF & 2 Ziof,
X2 Eo| 22| =it mf 77k,

oL, SIX[ZH 22 £HS {5 o] gifot

£ URIX| ot T2hE ARzt =0] S| 2 7ok
Sdof. 2EX2 22| Sshi= = & 20t 2oL
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Q CHEloilM EXiet oA F2 Sk H27?

(a) ool = &z 25t 2|

(b) 252 otut=of| st LtE

(c) =2 gt A= 29

(d) 7 oliAtofl 25t 0jof7|
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Listen to two friends discuss a telescope.

M Hey, | didn’t know you had such a nice

telescope, Suzy.

W You like it? | got it as a gift from my boyfriend.
M Have you always been into astronomy?

W No, it’s just a recently acquired hobby.

M Used it much? How powerful is it?

W Actually, | was hoping to set it up tonight.

Q Which is correct about the woman according

to the conversation?
a) She received a gift from the man.
b) She studied astronomy as her major.
c) She has a new interest in astronomy.
d) She will first use her telescope next week.

5 27 BB cheh olopr[She RE S2AIR.
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(b) TSz M2 SR
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Listen to two friends discuss a vacation plan.

W I’'m thinking of going to Paris this summer.

M Paris? Why go there?

W Hey, | thought you’d be excited for me!

M Sorry. But Paris is just another big, dirty city.
W | didn’t realize you found it a disappointment.

M After all the hype about it, the reality is a
letdown.

Q Which is correct according to the conversation?

(@) The woman has already bought her tickets to
Paris.

(b) The man loved Paris as soon as he saw it.

(c) The woman is suspicious of Paris’ reputation.

(d) The man was disappointed with Paris.

5 2771 {7t A2l sl olopr sk HE S2AI2.

W L} ol oS0l mt2jofl Z77} 4zt So[o.

M m2[? 770l ef 7F?

W of, 't UI7HE flal 7 [HsH & A2t 23404,

M O[Qfsl. SEX|2H mf2l= T £ CHE 31 G2 =AY 0]
ot
U7t oi2lE AyA4R2 o2t MZisk= & SRl

af2lof| chet Z17h EXMUT s 2 7o oSttt

Q chisloll ol 82 X2?
@
(o
(c

EE

) OiXK= oln| w2l S ATk

) HXh= Di2lS 2XI0kKE Z0ksHH| EIAUCE

) OfXt= 2o oéioﬂ olfE {m k.
(d) HXH= Tizlofl &34t

sid maloll 7t AlE S0 AAXtofiA EXtrt malof chei SRR
O=F st QUct odxte| & | didn't realize you found it a
disappointmentE Safl A7t mzjol| AUMSS o 4~ UCh
kA (d)7 22 Zolck oiXizH mr2jofl 2 AlZlo] et g
®AHZ 2E A U2 OWLEE (a)= 20t £ 2 glen, ()2t

()= thatel Ligat Azt

2
Jor

disappointment 42A2{2 2 hype (2FeE) 20
letdown 7[ch 0[5t 224 suspicious 222 2=
reputation Iz HA

0
i)
0

Istd [ 55



Listen to a conversation about a condo.

W Tell me about the condo you looked at.
M It was small, but the location was good.
W What about the unit itself?

M The layout was attractive, and it had elegant
features.

W So, do you think you’ll purchase this one?
M | wouldn’t mind taking a second look.

Q Which is correct according to the conversation?
(@) The woman is hoping to sell her condo.

(b) The man had inspected a large apartment.

(c) The man found the interior design appealing.
(d) The woman wants to look at the condo again.
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Listen to a conversation about a job.

M Well, your job application seems to be in order.
W Can | ask what the starting salary is?

M We’re offering 35 thousand a year to the right
candidate.

W Oh, is that all?
M That’s the most our company budget will allow.

W | had the impression it’d be closer to 45
thousand.

Q Which is correct according to the conversation?
(a) The woman was just offered a job.

(b) The man’s company will pay 45 thousand.

(c) The company cannot afford new employees.
(d) The woman thought the salary would be higher.
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Listen to a conversation about a new assistant.

W How’s the new assistant you hired last month?
M Frankly, I'm pretty frustrated and disappointed.
W Why? | thought she had pretty impressive

Listen to a conversation between two friends.

M How’s the wrist feeling, Janice?

W OK. I'm going to physical therapy for it twice a
week.

references. M Do you know how long a full recovery is
M She did, but it turns out she can hardly carry supposed to take?
out a task. W The surgeon estimated three months.
W What a nightmare! Have you talked to her M Wow, that’s a long time.
about it? W Yeah, but it’ll be worth it to regain full mobility.

M | have, and | think she’ll eventually get the
hang of it.

Q Which is correct according to the
conversation?

(@) The woman is concerned about hiring
practices.

(b) The man isn’t working well with an employee.

(c) The man has a very stressful workload.

(d) The woman is planning to apply for a new job.
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Q What can be inferred from the conversation?
(a) The woman’s pain is at a chronic level.

b) The woman’s wrist was recently operated on.
The man needs to go to physical therapy, too.
The man is surprised at the woman'’s progress.
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Listen to a conversation between an airline

representative and a passenger.

M Ma’am, | see you booked a seat in the
emergency exit row.

W That’s right. | want the extra legroom.

M Are you aware of the requirements of a seat in
this row?

W No, what are they?

M You need to be fit enough to assist the crew in
an emergency.

W Oh, that’s no problem. | can do that.

Q What can be inferred about the woman from
the conversation?

(@) Her seat is going to be changed.

(b) Her flight has been overbooked.

(c) She does not care where she sits.

(d) She is in good physical condition.
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Part IV

Many say our increased reliance on digital
devices has caused greater isolation, but this
isn’t the complete story. Certainly, we’ve seen
friends sitting together at a dinner table looking
at their phones rather than talking to one
another. But these same devices allow friends
to communicate more often, share personal
moments, and stay more informed. Moreover,
families separated by long distances can stay in
touch more often at a very low price. So, | would
argue that our mode of communication has
shifted but hasn’t diminished.

Q What is the main idea of the talk?

(a) Digital devices invade personal privacy.

(b) Improvements in technology have a downside.
(c) Changes in communication have their benefits.
(d) The effects of new devices can’t be measured.
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A government panel is investigating a major
automaker for problems with the airbags in their
vehicles. It’s possible more than 300 people
have died in car crashes because airbags in
their cars did not inflate. The investigation spans
three years of case histories, and lawmakers are
reviewing cases from customers nationwide. If
the allegations are true, the company could face
huge fines that may cripple its business.

Q What is the news report mainly about?

(@) How airbags function during a collision

(b) Why road accidents increased in recent years

(c) An inquiry into car safety complaints

(d) Improvements in automobile performance
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- Atfirst glance, the concept of borders, borderlands,
' and frontiers would seem to be straightforward. A
border or boundary is a line on a map delineating
a territorial boundary or the limit of a political
jurisdiction. Borders are primarily, but far from
exclusively, seen as properties of and under
the control of states. Nevertheless, this has
generally not always been the case. Even in the
contemporary world where such an interpretation
often does apply, the concept of borders |
frequently becomes much more complicated.

Q What is the speaker mainly discussing?

@

Differences between borders and frontiers

&

b) A definition of borders and boundaries
The complexity of defining borders ;
The properties of a territorial boundary
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For many years, the proton, neutron, and electron
were believed to be the building blocks of matter.
But in recent decades, a smaller component of
matter was discovered—the quark. The quark
can be classified into six types, but they are
categorized as three pairs. What’s especially
interesting is that quarks have only a fractional
electrical charge. Some have a one-third charge,
others a two-thirds charge. Protons and electrons
have a full charge of positive one and negative
one respectively.

Q Which is correct about quarks according to
the lecture?

(@) They can be seen under a common microscope.

(b) They are formed by protons, neutrons, and
electrons.

(c) They don’t have a complete electrical charge.
(d) They are made from smaller elements of matter.

il of2d aff St LRL SEXE TR 2ROl A= 2O 2
FLICh SIXI2H 22 24 H Atolof| o=t o 22 #F2tk= 22
9| FYRAT HAJSLICEL H3= 671K SFE EFE + U
X2k 37He] Mere RRELCL S5t 80|22 A2 #HA0t
24 Tol2ts ZHR| UChE AYLC #3= O3 2RE=E 1/38 ™

Sl CHE LR= 2/3 TI6IE 7HX| UBLICH LERR= 2l Fot

Q ZHol ofstH #3201 chelf 22 A2?
(a) Yt sinjgoz & 4 QUCk

(o) LML S&XL, TXIZ FHECE

(c) 2t HBIE 7IX|1 UX| Lt

(d) 22| O X2 QASZ THS0JXICE

7} =et,

2| proton &&xt neutron 4%t electron Fixt building

block 7424 matter (Mlale] 2E 22 FAisH= Letx)
2% component 7824 classified into ~2z 23
categorize £5sict fractional electrical charge 24
st respectively 2zt

60

OFRIR} S20] QdRie} ZIRKS F517F 191 813t 4=10| i

x
1/3, T2 Ui 2/38 F51E JHxIm Qlckn ooz e (o)

No matter how the temperature surrounding
us changes, our bodies remain at a constant
37 degrees Celsius. The process by which we
maintain our internal temperature at this level is
called thermoregulation. It’s essential for humans,
in part because our metabolism depends on
enzymes that only operate within a certain
temperature range. In addition, certain processes
within the cells are also very temperature
sensitive. If we become too warm or too cold,
vital functions—like active transport across cell
membranes—cannot be performed.

Q Which is correct about thermoregulation
according to the talk?

(a) It keeps the body’s internal environment
stable.

(b) It is predominantly carried out by enzymes.
(c) It is a byproduct of the human metabolism.
(d) It inhibits the process of active transport.
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It’s often difficult to know exactly how much you
should help your friends. One of my friends is
in a very unhealthy relationship, and she’s very
troubled by it. | want to be firm and tell her she
should leave, but | also have to realize she won’t
follow my advice and she’s a grown-up who can
make her own decisions. | have another friend
who can’t find a job and really needs money.
| want to help him, but | also have to realize I'm
not responsible for paying his bills.

Q What can be inferred from the talk?

(a) Dysfunctional relationships can cause serious
harm.

(b) The speaker isn’t willing to help friends with
problems.

(c) Maintaining friendships can raise challenging
questions.

(d) The speaker is disappointed in his friend’s
decisions.
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As spring reaches the state of California, 740,000
acres of almond trees await pollination by
honeybees. But commercial growers maintain
far too many orchards for local honeybees to
pollinate naturally, so colonies from other parts
of the country must be imported. Every February,
migrating beekeepers transport more than a
million hives to pollinate California groves. Around
40 billion individual honeybees participate,
pollinating about 80 percent of the world’s
almond crop. For the pollination of almond trees,
nothing can be more important than honeybees.
But some orchards also select other insects,
such as blue orchard bees, wild bees and flies
as pollinators. These pollinators move to collect
pollen and nectar like honeybees. According to
researchers from Northern California, combining
different pollinator species can help almond
tree growers ensure reliable pollination. Almond
tree growers can benefit from adopting multiple
pollination strategies. Integrated crop pollination
is combining strategies to improve pollination.

Q37 What is the lecture mainly about?

(a) Almond crops around the world

(b) Pollination of California almonds

(c) California’s almond production industry
(d) The distribution of US honeybee colonies

Q38 Which is correct according to the lecture?

(a) Local honeybees rarely pollinate California’s
almond trees.

(b) About 40 billion honeybees pollinate
approximately four-fifths of the world’s almond
crop.

(c) It is not important for honeybees to pollinate
almond trees.

(d) There is no advantage in almond tree growers
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Today, I'd like to discuss social changes within
the modern workforce. Sixty years ago, women
could hold only a limited number of jobs, usually
as secretaries, teachers and nurses. Now,
however, women are able to work in nearly
every field, including the military or as business
executives. In particular, the married female
labor force participation rate has substantially
increased over the last 50 years, while the rates
for men have increased by much less. There are
various reasons for this rise in married women'’s
LFP (Labor Force Participation) rate. Above all,
there is social impetus including changes in
intra-marital relationships. Economists focus on
adoption of advanced technology like vacuum
cleaners, dishwashers and washing machines
reducing the time for house work. According to
the researchers, men with working mothers are
more likely to have working wives. Yet, most
industries are still dominated by men. At the same
time, women are generally paid 30% less than
men who do the same work. In general, society
hasn’t fully accommodated women, who are still
forced to take care of nearly all of the household
and child-rearing duties within the family.
Q39 What do economists think is the most

important reason for married women’s LFP
increases?

a) Using high technologies for housework

b) Men preferring working wives to housewives
c) The scarcity of labor working in specific jobs
d) The need for women to support their family

PN

Q40 What can be inferred about the modern
workforce from the lecture?

(a) Men are paid more because they have more
experience.

(b) Women are succeeding more as a result of
better education.

(c) More men are willing to contribute in the
domestic sphere.

(d) Women have seen improvements but not
equality.
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M How about grabbing a bite to eat?

) Yes, I’'m quite famished.
) It'll be ready this evening.

| thought you’d never talk to me.
Try chewing more slowly.
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W When is your family planning to visit?

a) They’re coming by train.

b) | talked to my mom Friday.

c) | can’t predict their reactions.
d) The week after next.
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0i2] predict oi=siCt reaction EtE

W This apartment is an absolute dump.

a) Well, | don’t think there’s any left.

b) I’ve got more living space than that.

c) The tenant didn’t take good care of it.

d) That’s why it was renovated last week.
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M It looks dismal outdoors, doesn’t it?

W
(a) Hey, thanks for noticing.
(b) | don’t see anything like that.
(c) | agree it’s not the right time.
(d) It’s supposed to clear up later.
siA M EjOll EM7E RESSEX], 2 X| Lot?
w
(a) Ol&t, Lot FAf 1Ot
(b) 23 7 2oIX| ¥=Z.

(c) ==t w7t ofjzh= ol S2kH.
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W Rebecca is really enjoying her new job.
M

a) It must be a perfect fit for her.
b) She wasn’t sure she would make it.
c) The job is challenging for working mothers.

Py

d) Anything she can do, | can do better.
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M | hope the rain doesn’t ruin the party Saturday. W George, we missed you at the meeting this

w morning.

(@) We can move inside if we have to. M

(b) Yes, it could be bad for everyone. (@) I'll be there as soon as | can.

(c) It’s been rather dry the last few months. (b) Great, thanks for letting me know.

(d) Don’t worry. I've watered the yard every day. (c) Sorry, something important came up.
—————————————————————————————————————————————————————————————————————————————— (d) The one in the main conference room.
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M Something came up and | have to extend the

M Amber Tech’s new PC is so powerful. trip an extra day.
w w
(a) I need to replace the hard drive. (a) | didn’t mean to add extra work.
(b) 'm working on my computer now. 1 i (b) You can take your time, so don’t worry.
(c) Nothing on the market can match it. © (c) We were expecting to travel tomorrow.
(d) Mine’s been performing well for years. (d) You'll have a great time over there.
siA M U EHIT ALR| Af AFE= B 26 s M 0| A7AM ofstE 512 o SEozlo]
w w
(a) sl= =201=E SHisHoF 3 () F7t 222 cllals =2 ofLol.
(b) XIZ Lh ZFEIR 2 50 IOF (b) 5| b= E|L|7t Z4&I5HK] O,
(c) ARl LE2 12 of Z4= J24af A7} OF &, (c) R2l= Y S 7IcHstkn ARA01.
(d) W22 2 H S0t Jls2 & st ol (d) E H7IM BHR AIZHS = Hof
sHa Of™ SlAte] 22 ZIHE 220l Cish &7te st A= 0] ShA 20| A7 oS S12 O SHOBICH= HXto| 2o st oqx+0|
0l 2| FE= HHElStALE ofiE Fo| FHoftx I AES HXl= Aol Scfoz JiEt MEst 4 ZANMGHK| LT ’F_’F_EI ol Erm ot
KIAARLCY, w2t S2lsk= LHEQ! (c)7F YTt SAF matcholl A= (D)OICE (@)= extraZ 0|25t THof Hhe Q& g.wgou,
‘ol2act2ks £ Qo= WL} TSI EPE 0| U301 =2 (C)= travel2 0|23t Q& &t&o|ct,
SiCt CHE MEiX|= 25 ZIFE(Qt BHE Q|
01%] come up A47[ch LIEHACH extend SIESIHCE S2ICt extra
012l match =ict, ZEGIC work ARzt el == 7t 22 take one’s time ARIS 2in

Sich

0
i)
0

Iatd | 65



M What can | do if | want to return this product
without paying a restocking fee?

a) We refund only up to 30 days after purchase.

b) You can return it directly to the manufacturer.

c) | can give you an additional 10% discount.

d) You can pay the fee by cash or credit.
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M Won’t you come to the park with me?
W Sorry, but I'm really tied up.
M That’s what you say every time.

a) I'll be happy to visit the park.

b) You can find it near First Street.

c) The park’s not open this time of year.
d) Well, | guess | could take an hour off.
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M You’ve met Mr. Simons before, right?
W No, but a friend of mine has.

M Then, do you know much about him?
w

a) That’s what my friend was saying.
b) | think you must be mistaken.

c) Just that he’s well respected.

d) He’s an old friend of mine.
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W Did you see Sky Runners last night?
M Yeah, the effects were excellent!

W What did you think of the story?

M

a) I'll say. How tremendous!
b) Right, | loved them too.
c) What a thrilling conclusion!

Py

d) | wasn’t able to attend.
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M Jenna, remember Tom Patterson?
W You’ll have to refresh my memory.

M He works with Liam over at Formica.
w

a) Tell me if they’re hiring.

b) Oh, yes, tall guy, blond hair.

c) Yes, you’re right about Formica.
d) I'll let Tom know you’re interested.
A M AL, = THEE 7|d6l?
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M Can you help me out in the garden again
tomorrow?

W Sure. When do you want to get started?

M What time is best for you?

w

a) I’'m always happy to help.

b) My favorites are the tomatoes.

c) I’'m free most of the afternoon.
d) | have a friend who can come by.
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W I'm so sorry I’'m late, Professor Frommer.

M You know how | feel about tardiness,
Samantha.

W Yes, and | promise it won’t happen again.

=<

a) Sure, why don’t we do that, then?

b) You’ll have to make up the assignment.

It’'s amazing how prompt you are.

Well, I'll let it pass this time.

W =0iM 2SS, T2 wad

M U7t HI2E0l| s o= M2feh=X] 211 UAX| 4L, AL
W 4|, CiAl= O 20| giS 72t i
M

(i
(b) TMIZS HrsH0F & ALt
(o) W7t ok AlZES = II?# iﬂ*?l—r

f&0l so] =2 HEoIct Chiks SX| 4lcta of

| ok |
&= shdo| 2ol chsh ‘oltHoll= Hol7 Al = sf=tef Lige!
(d)7+ 7F ==EE SHOICK (a)= AiRloll st s2e| #3io|s=2
ZEGHX| ot

oi#| tardiness %[ =2 make up =fsict 2Eaict
assignment x| prompt AZFS &5th=

M Excuse me. Where is the closest bus station?
W It's just a few blocks ahead on the right.
M You mean near that tall office building?

=

a) The buses are running late today.

b) The bus fare is very expensive these days.

It’s here in the neighborhood.

Close. It’s just a little beyond that.
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M Emily just keeps phoning me! M We missed you at the party on Saturday.
W She can’t admit the relationship’s over. W | was sad | couldn’t be there. Something came
M | don’t know how to make her understand. up.
w ; . M Well, we're getting together again on Saturday.
(@) Tell her I'm keen about her. W
(b) She probably just needs time. (a) Tell everyone I’'m having a party.
(c) She’s a very independent person. (b) I wish I'd been there to see it.
(d) Maybe it's best to break up with her. (c) Oh, I can definitely be there.
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘ (d) | feel bad, but | had to work late. :
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W Will you please stop making that noise?

M What, chewing gum like this? : Part il
W It’s really getting on my nerves.
" 2
(a) Sorry to be a nuisance. Listen to a conversation between two friends.
(b) I'll try not to chew it up. M Are you and your boss getting along better?
(c) I'll eat another type, then. W Yes, she agreed we have to hire an assistant.
i (d) I heard that noise as well. .M That'll really help lighten your workload.
W Ideally. But | worry she’ll drag her feet filling
S W 1 AS E LIX| Lot Z2H? i the job.
M &, 02 ZS W= A 2olof? M Well, you should bring it up regularly.
W A E 100 7&2. W | know. | just wish | didn’t have to check on
M my own boss.
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Q What is the main idea of the conversation?
(a) The woman worries she’ll be replaced.

(b) The woman is annoyed with her supervisor.
(c) The man wants a position with the company.
(

SA UXp S M= Ao d) The man needs advice for a promotion.
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Listen to a conversation between a representative and

a customer.

M I'd like to exchange this shirt for another item.
W Is there a problem with it?

M No, | just realized it’s not quite my style.

W | understand. Does it still have the tags on it?

M It does. It’s never been worn.

W Great. Then | just need to see the receipt.

Q What are the man and woman mainly doing in
the conversation?

a) Agreeing about fashion preferences
b) Reviewing items on sale in a shop
c) Arranging the return of a purchase

P,

d) Choosing clothing for him to wear
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Listen to a conversation between two friends.

M | can’t believe what Diana said to you.

W | know. It nearly brought me to tears.

M She’s always been rude, but this was over the
top.

W I'm not sure | can stand to be around her
anymore.

M | don’t blame you.

W It’s a shame, because we used to be friends.

Q What are the man and woman mainly talking
about?

a) How Diana has no friends

b) A rude remark from Diana

c) A friend who was ashamed
How it is rude to be insulting
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Listen to a conversation between two friends.

W Have you gotten all your books for the
semester?

M Yes, | went to the bookstore this morning.

W Did you pick up the DVD for chemistry class?

M What DVD? Do we need one?

W It covers evolution and is on the syllabus.

M Well, looks like I'll have to go back and get it.

Q Which is correct about the man according to
the conversation?

a) He bought everything for the semester.
b) He picked up a wrong DVD for class.
c) He is not going to study chemistry.

d) He will return to the bookstore.
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Listen to a conversation between two friends.

W My computer is acting strange, and I’'ve got to
finish this report.

M | know a little about computers. What’s going
on?

W | opened a spam email and now the screen is
freezing up.

M You should turn it off right away and take it to
a repair shop.

W Really? You think it’s that bad? | guess
| shouldn’t chance it.

M Exactly. But | know a guy who’s great with
that type of equipment.

Q Which is correct according to the conversation?

(@) The woman can’t find an important computer
file.

(b) The man suggests the woman take action
quickly.

(c) The woman doesn’t have the equipment she
needs.

(d) The man needs her report as soon as possible.
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Listen to a conversation between a representative and

a customer.

M I’'m calling for Ms. Summers of Summers

Cleaning Services.

W This is Judy Summers.
M Can you explain your recent hike in your

cleaning fees?

W We've had to increase them to offset rising

costs.

M The change seems a bit extreme.
W Believe me, we’re not happy about it, either.

Q Which is correct according to the conversation?
(@) The man is looking for a new cleaning service.

b) The woman’s company has raised its prices.

(
(c
(

) The woman is offering the man a discount.

d) The man agrees with the increase in fees.
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Listen to a conversation between a representative and

a customer.

W Excuse me, but | think there’s a discrepancy
on my bill.

M Alright, let me look into it. What seems to be
the problem?

W For one thing, | didn’t make the long-distance
calls listed here.

M Ah, yes. It looks like we billed that to the
wrong room.

W | thought so. And | didn’t order the room
service listed here.

M Miss, I’'m sorry for the errors. Here’s a coupon
for a free breakfast.

Q Which is correct according to the conversation?
(a) The woman asked about extra hotel amenities.
The man believes the fees were justified.

The woman is disputing items on her bill.

The man offered the woman a free stay next
time.
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Listen to a conversation between a woman and her

boss.

W Theodore, | know we’re busy at the end of the

year, but I’d like to take three days off after
Christmas week.

M Let me take a look at the calendar. Do you

mean from the 29th?

W Yes. | need the three days from the 29th to the

31st.

M Those are the days between the Christmas

and New Year holidays. Alright, you can have
those days off.

W Thanks. I'd like to go south and enjoy a warm

Christmas with my family.

M | see. I'll find a backup for you for those three

days.

Q Which is correct according to the conversation?

(@) The woman wants to go on vacation before

Christmas.

(b) The woman will take a long vacation after

Christmas.

(c) The man will work in place of the woman

during her vacation.

(d) The man does not want the woman to take

any time off.
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Listen to a conversation between a professor and a

student.

M Sorry, | missed class yesterday, Professor.

| had a nasty cold.

W That’s OK. We all get sick.
M Thanks. Anyway, what did | miss?
W We covered the chapter 6 reading, and

| assigned an essay.

M Great. I've done the reading, so | just need the

assignment.

W | put the details online.

Q What can be inferred from the conversation?
(@) The man has completed the essay.

(b) The woman will not penalize the man.

(c) The woman doubts the man has done the

reading.

(d) The man hopes to be excused from the

assignment.
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Listen to a conversation about a business idea.

W Have | told you my latest business idea?
M No, what is it?
W Fashion bandages—band-aids with hip

designs on them!

M That’s certainly an original idea.
W All | need is some startup capital to create

prototypes.

M | might be able to help you out.

Q What can be inferred from the conversation?
(a) The woman runs a fashion firm.

(
(
(

b) The man would consider investing.
c) The woman has made many inventions.
d) The man is skeptical of the band-aid idea.
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| want to turn now to a method of art that relies
heavily on discarded materials. The Nigerian
artist El Anatsui, for example, uses discarded
beer bottle caps to create giant tapestries. The
materials are not just cheap and easy to find, but
they represent a political concern—how conflicts
in Nigeria have left the population poor and
unemployed, causing many men to drink heavily.
The use of so many beer bottle caps in his work
is meant to reveal the scale of the problem.

Q What is the talk mainly about?

(a) How an artist is helping his local environment
The troubled political climate in Nigeria
Benefits of using discarded items in artwork
The materials of an artwork as a part of its
message

L

(b
(c
d

= - =

S700]l 20| == o
Ct. 0 501, LioJx[zlote] o7kl
24 %702 Ffe HIIACRIE BSSLIC
B 1 OfLjzt £l B} & 4 k= S2i0|RERt

LoIxIzlote] ZS R0l 22IS0| 7fcts
B2 ARIS0| AYst g0l wRSe Y

=

P
o
Q‘E
o
ic3
= 10

0%

IR
_O'I_I
°
of O

rr g
S
=
1

T
o
A

2
o
Il
i
o

S

rjo

- [

5

r
A
(N

=
e -
A
o

2
)
1l
Il
[ie
ﬂ
Q'I_l
K
30
I
AT
oL
A

Z HR| Aol st 2248 Bt B2i0P|E
R0 M91 1 B2 Ry A2 2] 7RIS Hets
ZHeict
Q =kl x
(@) OfEA o717} 101 Xiof €48 E U=k
(b) SRV} B2 LolRIzlore] Hx| &

(c) izl 242 o Sk2of
(o) HAIRIS] 22 A o KtZo| xng

o T
A T

FQ LIRS

| %*

= —= %
aif LNIXIEIOP—I AEg 6oz MR (d)7t &
HE SUS HEYCEM FIHC= 0[20] M7= Al
Tl %d% Sall HAIXIE Tot U= AOI=Z (c)= 2EOIE,
rely on ~of 2i=5ict discarded 2%l tapestry

EfmjAE2|(#HZ0] 82 conflict = unemployed A%i9|
reveal ZA5ICE LIEHHCH scale AA([Y, 72

0
i)
0

(g
29

o
=

ro ol .

il

Iatid | 73



2
o

The anti-piracy strategies of Hollywood film
studios have impeded retailers’ efforts to sell
movies online. In making their films unable to
be copied, studios rendered them unplayable
on most devices. The film industry, however, is
setting a new course with the release of a new
platform for distributing online content. The
new technology, called Ultraviolet, is expected
to be compatible with most electronic devices,
so it should be possible to download films onto
smartphones, computers, televisions, and set-
top units while still preventing film piracy.

Q What is the main idea about Ultraviolet in the
talk?

(@) It will prevent the illegal downloading of films.

(b) It may not operate on all types of media
devices.

(c) It is a universally compatible digital movie
format.

(d) It was specifically designed for the movie
industry.
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Researchers at Massachusetts General Hospital
recently published their findings regarding a new
cancer marker that may ultimately facilitate earlier
detection. While analyzing RNA molecules from
tumors, the researchers stumbled on a previously
unrecognized feature of cancer cells, called
“satellites.” Basically long segments of repetitive
RNA sequences, these satellites are, presumably,
unique to cancer cells. Not only that, they also
seem to be universal among all different types of
cancer.

Q What is the main idea about RNA satellites in
the talk?

a) They were discovered completely by accident.

b) They only rarely appear in healthy cells.

c) They are specific to one type of cancer.

Py

d) They may aid early diagnosis of cancer.
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Belmont Area Transit has begun rolling out
' new policies that riders may want to acquaint
themselves with before boarding their next
bus. An attempt to simplify the fare structure
. will result in a minor price increase for certain
i routes, though other routes will cost slightly less.
i There will now be only two fare categories Local |
and Express. The normal rate of $1.00 per ride
applies to all travel on routes designated Local,
: while trips on Express buses will now cost $2.00.

Q Which is correct according to the news :
report? :

. (a) Passengers have to face a more complicated

fare structure.

i (b) All Belmont Area Transit fares will increase :

somewhat. :

i (c) Express fares will cost $2.00 more than Local

3 fares.
(d) Single-ride fares on Local buses will cost
~ s$t100.
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Beneath the Pacific Ocean lies a vast tectonic
plate of 103 million square kilometers. This
huge Pacific Plate is slowly making its way
northwest, scraping along the neighboring North
American Plate as it moves. As the two abrade,
earthquakes occur along the boundary. It’s a
zone of tectonic activity known as a fault, or,
more specifically, a transform fault—a place
where two plates slide past one another. The
name of this volatile border between the Pacific
and North American Plates is the San Andreas
Fault.

Q Which is correct according to the lecture?

(@) The Pacific Plate is 103 million square miles in
size.

(b) The North American Plate is moving northwest.

(c) Transform faults have less earthquake activity.

(d) The San Andreas Fault is a transform fault.
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For centuries, camel caravans have traversed the
blistering sands of the Sahara between Timbuktu
in central Mali and the salt mines of Taoudenni in
north Mali. However, this particular tradition has
come under growing threat from climate change.
With every passing year, the impact of drought
becomes more acutely felt. Nowadays, caravans
can’t always complete the journey because the
camels can’t find enough to drink. As a result,
people are trading their camels in for trucks.

Q What can be inferred from the lecture?

(a) Very few camels remain in the northern Mali
region.

(b) There used to be more sources of water along
the route.

(c) Transportation by truck is more costly than
camel caravans.

(d) Climate change has affected northern Mali
more than southern Mali.
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In accordance with the state’s health and safety
code, employees must be notified of the presence
of asbestos-containing materials on campus.
Because Waterman Hall was constructed prior
to 1981, all floor tiles, laboratory surfaces, and
insulation materials in the building must be
presumed to contain asbestos. So all Waterman
employees should follow appropriate work
practices in order to avoid disturbing asbestos-
containing materials. As you know, asbestos
fibers are most harmful when airborne. We can
minimize our health risk by leaving asbestos-
containing materials undisturbed. Microscopic
asbestos fibers are invisible to the naked eye, so
it is easy to inhale or swallow the dust without
even realizing it. Symptoms like inflammation,
scarring and genetic damage appears years
after exposure to asbestos dusts. Accordingly,
we are decided to hire an asbestos abatement
company, which is the wisest and safest way to
remove materials containing asbestos from our
buildings. The asbestos abatement company
will go into work from next week. Please, don’t
do anything yourself before the company starts
the right abatement removal work. We ask
for your cooperation. For more information,
visit this web site: www.waterman.com.

Q37 What is the purpose of the announcement?

(a) To urge employees not to use asbestos.

(b) To explain how to remove asbestos from office
materials.

(c) To inform employees of hazardous properties
of asbestos.

(d) To notify employees of some cautions about
asbestos materials.

Q38 What can be inferred from the announcement?

(a) Future health problems are guaranteed
because of asbestos.

(b) Waterman Hall is one of the newest buildings
on campus.

(c) Buildings erected after 1981 usually will not
contain asbestos.

(d) Some employees will consider leaving
Waterman Hall.
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Although data pertaining to women and migration
is generally inadequate, certain details about
female migrants are clear. For one thing, migrant
women contribute economically to their adopted
countries and to their countries of origin through
the transfer of earnings. For many families in
developing countries, financial contributions
in the form of remittance from female migrants
remain a significant source of income. In fact,
female migrants remit approximately the same
amount of money to their family as male migrants.
What is more surprising about their remittances
is that women tend to send a higher proportion
of their income despite their earning less than
men. Additionally, these women may influence
their culture of origin by spreading new beliefs
about the rights and roles of women. At the
global level, the migration of women is essential
to service-sector jobs, in particular, to the health
and care economy, carrying out household
chores and caring for the growing number of
elderly and disabled people. This has led women
to take up higher-status and better-paying jobs.

Q39 Which is correct about migrant women
according to the lecture?

(@) They have been well studied by researchers.

(b) They contribute financially to their countries of
origin.

(c) They often rely on money from home countries.

(d) They quickly adopt customs of their adopted
countries.

Q40 Which sector do female migrants mostly
contribute to?

a) The field of education

b) The health care industry

c) The area of trade finance

The field of public services
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37(c) 38(c) 39() 40(a)

a) My name is Edgar Lee.

b) Extension 9890, please.

c) That would be great, thanks.
d) As long as it’s not any trouble.
shd M=ot S3totAl sHte?

w

(a) Al oIS o= 2|JLIct

(b) LiAIEHS 9890 HERSILICE,

(©) T2iE BAe. ToIYe.

(d) EXPt=IX| 2=CtHe,

st TSt SSollM STl HEE AU=K] 2= UE FTE e
M?ak= £29] Who are you calling?/ Who would you
like to speak to?72t 22 0| UCL M2t SSfstX} sh=
ARZOILE S LIM HSE e = SHOo| XESIEZ ()7t Xt
AL,

2| extension LiM

=l
Hol



W Somebody hit my parked car and ran away. M Your help on the Fuller account was much
M appreciated.
(@) I'm sorry, but this parking lot is full. w
(b) You can park anywhere along the curb. (a) Take some time to mull it over.
(c) My car is being kept in the garage. (b) I just wish | could’ve done more.
(d) You’d better report it to the police. (c) Give me a shout when you’re ready.
—————————————————————————————————————————————————————————————————————————————— i (d) Their operation is running smoothly. ‘
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W It’s time for me to get in shape.

" 5

(a) About 30 minutes a day. M [ won third place in the cooking competition.
(b) I've been working out. W
(c) No, at the gym downtown.
(d) You should hire a trainer. (@) All of my friends love eating there.
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, (b) The judges are very well-known.
SA W BS 74251 DHES0{0 & mio)2. (c) That's a huge accomplishment.
M (d) I know how much you enjoy cooking.
(a) 5lR0il 2F 302M0|2.
(b) 252 s 21 AUA0IL. sa M LE 22| ChEloflA 3¢9 Ko,
() OMI. AlLj HAZIO|AR, w
(d) Edl0|1E 125IMo} sHL. () U RIS 25 77 |M H= 7 20},

(b) &ARIES0] O FsH.
(c) 27 kst dajelr,
(d) U7t Qa5 Hott E7k=X| Yot.

s It's time to2&AL ‘Ol| ~&F mfo|ct ~& AlZio|Ck
It's about timext 22 O710ICt &2 745t
ofl CHal Ezilo]0l|A| X|=E& 2otk
7+ mESH SEHOIC 6Kt Xphle| 22 7Sl s Q2| BN 392 XIX[BHCID AUz |= LHXte| Shol| CiEt oiXtel
ooz Xt 258 s 21 UCk= ()2l ek 2Eolct Sctom JiEF XS 42 CHES US SHHCID EHMSE

O|ct. (a)= eatingE 0I&3H cookingat A= HO|== &t

QE oI, (by= judgeE 0I&3H competitionoll thst CHE!

X Ho|=Z §t @Folct (d)= cookingS 0188t thof Hts

2 2ok

o
i
YR
ro
Er

ot
= =

i

mjo

=

i

[1l]

=

2 n

1o
|m]

B oo

re fr

S

=
rh
i}
[l
s
g|=

%

©

0iz] work out 55ttt trainer 25 E2{0[14

4ol

2
Jor

third place 32| competition chs], 2% judge A=t
AR well-known st & 22{7l huge S& CHEtsH
accomplishment A}, &=

0
i)
0

Latd | 79



W Please make sure to sign off on these expense
reports.

a) Thanks, I'll make a report soon.
b) Just sign on the line.

c) They approved the budget.
d) Don’t worry, I'll attend to it.

4 W O] BIS ETAOl AZHA SIH FAIL,
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M Why are you hauling that old wooden door
home?

a) | want to repurpose it as a table.

b) | can get it on my own, thanks.

c) I’'m glad you like the look of it.

d) I'll let you have it, if you want.
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W | never should have bought this camera.
M

a) Well, | wouldn’t go out and buy it yet.

b) You’ve made it into a fun hobby.

c) You mentioned the images were of poor quality.
d) We don’t accept cash at this location.

Py

sfiAl W 0| 72t =i AR= 7| ORLIt0].

M

(@) SM| =t OFEl LIZEM AFX| 42 7Ok

(b) 2 32 E742 F0|= LSATL,

(c) W7 2 oln|XISe]| Zo| EX| firtx JHLoL,
(d) OlRolM= SZS BIX| 2ot

st PEHIEI— AX| ZRtofof Sttt S3(oh= ofXte| Zoll chet HXie|

E°”J A M7Ic>rE (c)olct. (@)= buyE ol2et o Bk 2
oI, (d)— S Tlut BEE SO 2 bought2h Hete|o]
=

RIA

A

W What kind of turnout do you expect at the
convention?
M

a) The auditorium is available.

b) Everyone said it was a success.

c) It’s going to be held in November.

d) More than a thousand people registered.
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M Pll be ready in just another minute, | promise.
w

a) I’'m glad you've arrived.

b) I wish | had believed you.

c) My patience is rapidly waning.
d) Unfortunately, | expect it will be.
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W Is there a problem, James?

M Looks like we have an accounting error.
W Did you factor in online sales?

M

a) No, not unless it worked.

b) I’ll try balancing the figures.

c) | simply can’t find the books.

d) | did, and they still don’t add up.
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M How did you spend your time off?
W | went to visit my sister and her new baby.
M Oh, that must have been wonderful.

=

a) She was born three months ago.

b) She’s really good with children.

It was like taking candy from a baby.
Except we hardly got any sleep.
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M What's this book The Great Voyage about?
W Magellan’s circumnavigation of the globe.
M Would you recommend it?

=

a) Put me down for three copies.

b) | read that book for history class.
I’ve been dying to read it myself.
There are better books on the topic.
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W [ was up till 5 a.m. this morning writing essays.
M I’'ve been swamped with work too.
W I’'m not sure | can go on like this.

<

(@) Good thing the semester’s almost over.
(b) Not as glad as | am.

(c) I'll be finished with it this afternoon.

(d) My dorm is too noisy to sleep.
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M Will you rent or buy a place when you move?
W I’'m hoping to buy, but | can’t count on it.
M Sounds like you’ve done your research.

=

(a) It’s difficult trying to figure it out.
(b) I'll look into it when | get there.
(c) 'l rent if it’s the cheapest option.
(d) I worry | can’t afford it.
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W I’'m dying to go to the jazz concert.

M Well, let’s get online and order tickets.

W You don’t think it might’ve sold out already?
M

a) | don’t see how it could have.

b) Fine, I’ll pick you up after 7.

c) | will, if you lend me the money.
d) I’'ve never been a huge fan of jazz.
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M What’s your opinion about stock prices after
the presidential election?

W 1 think they’ll be going up if the incumbent
wins.

M Can | ask what makes you think so?

w

(@) My husband thinks the current president will
win the election.

(b) I’ll definitely vote. | don’t want to miss my first
vote!

(c) Actually, this election has nothing to do with
stock prices.

(d) A newspaper article | read this morning said
so.
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W Are you working for Jefferson Computing?
M Yeah, but just as an independent contractor.
W So, you don’t get employee benefits?

s

) No, they gave me another job.
) One of the top local tech firms.

Let me check out your health plan.
No, but I’'m really getting paid well.
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M I’'m planning to quit my job and go back to

school.

W But why? You have a great career.
M [ just know | won’t be happy doing this forever.

=

a) Well, work satisfaction is very important.

b) If you keep working at it, you’ll be successful.

Your company really needs to make changes.
| guess you're trying not to expect too much.
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W Lee, welcome back from your sabbatical!
M Thanks, Catherine. It’'s great to be home.
W What did you miss most while you were away?

=

) Well, | was glad to see you back.
) | was planning to leave Tuesday.

There were a lot of idiosyncrasies.
Basically, just a home-cooked meal.

2|, 7| F710lM Eok2 2 Fstehel

w

M 20, FHAEL ol 2L ZHIR.
W L7t = S #7t 71 TJ2IRoie?
M

(@) 2. g0l SotetA 7180l
(b) st e AZo|AoL.
(c) Solgt ol 2ol AA0IL.

(d) 7I2xo2 EollM 2HE S40|2.

missE ‘I2IYBICraks £o2 MeiCh of3 Fof MY Azt
B 2402 ol BIE SAJ0f2tT ks (d)7H 7K RIARCY,
(a)i= Of10IA SOKR ARRIOIZ CRA| BHPA HiZICH= ofn|2 At
254 9l= F30|C}

0x

sabbatical ¢HAIE, 27| 57t idiosyncrasy S5t 7|1Z, i
home-cooked ZolM 22[st

0
i)
0

st | 83



Part il

Listen to a conversation between two friends.

M Let’s go kick a ball around.
W OK. Shall we drive over to Hampstead Park?
M Hampstead? Why don’t we just walk to Carter

Field?

W Hampstead’s nicer than Carter.
M Yeah, but I'd rather not drive if we don’t have to.
W | guess we’d get more exercise walking.

Q What is the conversation mainly about?
(@) Which park is closer

b) Where to play outdoors
c) Where they can find a ball
d) Why Hampstead is a nice park
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Listen to a conversation between two friends.

W Where was your favorite vacation spot as a
kid?

M Oh, my family didn’t take many vacations at all.

W Sorry to hear that. Parents were just too busy?

M Yeah, basically. And also | guess we didn’t
have much money.

W So did you feel you were missing out on travel
as a child?

M No, I still think | had a great childhood overall.

Q What are the man and woman mainly talking
about?

(a) What opinions the woman has on vacations

(b) Why the woman is feeling sorry for the man

(c) The man’s childhood without many vacation
trips

(d) The problems the man faced during childhood
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Listen to a conversation between two friends. Listen to two friends discuss diet.
W So, how did it go with the professor yesterday? | M Wow, you really look fit. Did you lose some
M He’s not going to let me make up the test. weight?
W Are you serious? How can he do that? W | did. Thanks for noticing. | just had to change
M He says he has a strict no-makeup policy. my diet.
W That’s outrageous. You should speak to the - M Really? What prompted that?

dean. i W I was having pretty serious stomach problems.
M I’'m considering it. M Oh, I'm sorry. But you’re feeling better now,

‘ : | take it?

Q What is mainly being discussed in the
conversation?

a) A disagreement with the man’s professor ; ;

b) A Comp|aint against the professor’s test ‘ ‘ Q What is the main reason the woman Changed

; ‘ her diet?

(a) She received diet recommendations from
several friends.

(b) She started volunteering at the farmer’s
market.

W Completely. | cut out bread and dairy, and
| feel fantastic.

c) A sudden change in university policy
d) A natural look without makeup
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Listen to a conversation between two friends.

W Carl, you're still here?

M Yeah. | completely missed my flight this
morning.

W Oh no! What happened?

M | set my alarm clock to p.m. instead of a.m.

W What a shame you missed a flight just
because of that.

M | know. But | booked a flight for tomorrow.

Q Which is correct according to the
conversation?

a) The woman just missed her flight.

b) The man’s clock was broken in the morning.
c) The woman is ashamed of her behavior.

d) The man was able to find another flight.
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Listen to a conversation about an art contest.

M Where can | register for the art contest at the
Spring Fair?

W You’ll have to go to City Hall for that.

M And where’s that, exactly?

W You have to walk two more blocks down Elm
Street and turn left.

M Would that be First Avenue?

W Right. It should be one block down at the
corner.

Q Which is correct about the man according to
the conversation?

a) He wants to enter an art competition.
b) He knows how to get to City Hall.

c) He will turn left onto EIm Street.

d) He has to walk five more blocks.
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Listen to a conversation between two friends.

W | can’t believe how long this line is for

M

=<

Q
a) The two people are frustrated with a business.

customer service.

| know. I've heard they cut back and laid
people off.

Well, they’re going to lose customers this way.
| agree. People won’t put up with this for very
long.

And given the price range on their products,
this is unacceptable.

Yes, when customers pay that much, they
expect better than this.

Which is correct according to the conversation?

b) The woman is returning a product for a refund.
c) The man is displeased with an item he bought.
d) The company sells products for the lowest

price.
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Listen to a conversation about a film.

M What did you think of the film? Did you like it?

W It was a little highbrow for me, actually.

M Oh, | thought it was really smart and interesting.

W 1 just found it confusing. | like black and white
endings.

M Well, | enjoyed not knowing exactly what
happened.

W Then | guess we’ll just agree to disagree on
this one.

Q Which is correct according to the conversation?

(@) The man wouldn’t recommend the film.

(b) The woman fell asleep while the movie was
playing.

(c) The man and woman have similar tastes in
movies.

(d) The woman’s opinion about the film differs
from the man’s.
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Listen to a conversation about a welfare policy.

W Are you for or against government-sponsored
welfare?

M Frankly, | think the whole debate is
unproductive.

W But it’s a hot issue right now.

M Yes, and candidates are using it to garner
votes.

W What’s wrong with that?

M They’re behaving like typical politicians.

Q What can be inferred about the man from the
conversation?

(@) He usually does not bother to vote.

(b) He believes in government welfare programs.

(c) He gets annoyed with single-issue political
debate.

(d) He will vote for a different candidate than the
woman.
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Listen to a conversation between two colleagues.

M Jim was looking for you this morning.

W | know. | was late for a meeting with him.
| forgot to set my watch forward.

M Didn’t you forget about daylight savings time
last year, too?

W | did. So | was trying not to forget this year,
but | thought it would start next week.

M Yes, it started earlier this year. | hope Jim
understands.

W He said he was half expecting it when | didn’t
show up on time.

Q What can be inferred from the conversation?

(@) Jim is very angry because the woman was
late for the meeting.

(b) The woman forgot about daylight savings time
more than once.

(c) The man didn’t know when daylight savings
time started.

(d) Jim wants to know when daylight savings time
ends this year.
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Part IV

2
Jor

Not too long ago, it was believed that the earth
was the center of the universe. Those who
challenged that concept were often punished
and ridiculed for their ideas. Gradually, the truth
took hold and now, only people who truly deceive
themselves believe that the earth is the center of
all things. Science has often challenged people’s
beliefs and taken them outside of the comfort
of their known world. Because most people do
not like to feel uncomfortable, resistance to new
scientific discoveries is often common among
average citizens.

Q What is the main idea of the talk?
(a) Scientific truth often meets people’s resistance.

(b) Scientific discoveries cannot be made with
comfort.

(c) Some people are punished for having wrong
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Perched atop a limestone cliff overlooking
the Philippine Sea, Jeweline offers diners
an unforgettable experience. The setting is
grandiose, the dining sumptuous, and the
atmosphere relaxing. Jeweline, the signature
restaurant of our island, specializes in fish from
the turquoise waters surrounding Boracay.
Fishermen of the region deliver their catch to our
chefs twice a day, ensuring that all of our seafood
is fresh.

Q What is mainly being advertised?
(a) The seafood specialties of Boracay
b) The freshness of Jeweline’s food

A Philippine seafood restaurant

A tour of a Philippine island
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When the cost of food rises gradually, people
have time to adjust to growing expenses.
However, things are different when there’s a
sudden surge in food prices. For families and
individuals just barely making ends meet,
there’s the potential for a volatile situation that
could lead to civil unrest. It’s something that
happened back in 2017, when a spike in food
prices resulted in political instability and rioting
worldwide. Ultimately, this precipitated the fall of
a number of governments.

Q What is mainly being discussed?
(a
b) Why food prices affect family stability

=

Why the cost of food rises over time

(
(c) The link between poverty and food security
(d) The social repercussions of food cost spikes
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I’d like to continue my talk on autism by focusing
on specialized education, especially considering
autistic students struggle to adjust socially.
Many schools provide specialists who work
with parents and autistic children to develop
individual learning plans. These can include
speech therapy, social skill development, and
dietary changes. This is paired with academic
plans based on a student’s intellectual ability.
When families and professionals work together,
communicate honestly and set reasonable goals
for growth, autistic students often experience
great progress.

Q Which is correct about autistic students
according to the talk?

(@) Schools have limited resources to help
families address the problem.

(b) Learning plans are available in new books
about this topic.

(c) Attention to social relationships will motivate
academic success.

(d) Guided planning with various caretakers helps
students grow.
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The current quarter hasn’t officially closed yet,
but it’s clear from initial projections that our
mobile GPS application isn’t selling as well as
expected. Evidently, we underestimated the
amount of time it would take for customers to
assimilate our product, and they’re embracing
the technology much more slowly than expected.
Consequently, our retailers around the country
have canceled or postponed additional orders.
| assure you that our executives are developing a
new plan for improving our product’s marketability.

Q Which is correct according to the talk?

(a) Early quarterly predictions indicate successful
product marketing.

(b) The public showed less interest in the product
than anticipated.

(c) Demand for GPS devices from retailers is
growing nationwide.

(d) Executives have settled on a strategy to
improve performance.

I’d like to take this opportunity to support
the city’s park expansion project. Business
developments are increasing in the city and
using up our natural spaces. By expanding the
local park, we can preserve more trees and
walking trails for families as the area becomes
more crowded. The project also calls for a new
swimming area and playground, which will allow
children to safely play outdoors. It’s important
we protect and preserve these spaces for our
children so they have a relationship with nature.

Q What can be inferred about the speaker?

(a) The speaker has reservations about spending
money on parks.

(b) The speaker wants to alter the park proposal
in several ways.

(c) The speaker believes children need to spend
time outdoors.

(d) The speaker encourages business
development in the area.
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e siM 2= oS S5l BH HEIXE2 FN0| LY=510|HES 0P|
To review today’s lecture, scientists only have a SH=X| JHZ Mo 20t ofaistn YSLICH L=x5t0|HEe| TKsst
. broad understanding of what causes Alzheimer’s | RIS & 70| 2 IS st ACt LoiFLCE F Bras
disease. Among possible causes of Alzheimer’s B Ho|E RTXIE SHUUZALE XHIQ| RTIX} F140] HO|E &
| disease, genetics are believed to play a big £ Ql=r|, 0[70] L=510|HHS SASIAIZILICE E5 UL
role. That is, someone may inherit a mutated BSARS2 o] SFt F22| A= MELH OLIR| itol] thet
gene from a parent, or a person may experience i As E?%M SOIM Lol 2RIl Hai7H o2 A‘—%HE?"
L . ; SHEA Feke =1 L=sI0|Ho| 7[0Sk SaiRtsLICt 8
a mutation in his or her own genetic make- 24mi01 QOIT} CHE Z4ZtAto] QOIS OiA| B 2I010] & & QUL |
up which activates the disease. Additionally, T et=510[HO] 23S 0@ 7Hx| Al 2J8i QA0 RS0
. some scientists have researched how age- Ol B7FE & QUri= HS H0] ELICH SIFXISS HiRt S
related changes in the brain including atrophy | B ZES AIRICHA} b2 AISHEOL OL|a} AlRRE TISIQF LEZ 7
of certain parts of the brain and breakdown of © olx[ad ZtE|9} ST AISIS0| BAIS HO|T QELICE HE &
energy production within cells may harmfully 27H= SoHS X[Stoh= AR RISH 8 OHL |2} Fhjof| HEREl= E
affect nerve cells and contribute to Alzheimer’'s | 2fR0Pt L=slo|HHe| YIRS BTHRILICEL A2iet F2 &4
! disease. Environmental and other health factors S H2 NZE2 8 o U=Xsl0|HE 22 $I&lo] UXIRE 1
can also contribute. Research shows that the TOfoi| CSt S| Of B St ERELIC,
chance of getting Alzheimer’s can be increased Q37 &2 FA=?
by several cardiovascular risk factors and (a) E=sloinigel B4
conditions. Researchers are showing increasing | (b) Z=3lo|HES| Tl T
. interest in the relationship between cognitive (c) e=3l0IHES RUSH= 2215
decline and vascular conditions like heart | (d) L=3t0|HHEe| Exu} FIct
disease, high blood pressure and stroke, as well shd Lxslo|HES RYsk= Ol RXI0| & S otH, 1 0]2lol| &t
as metabolic conditions such as obesity and Zxl 201 3l 7 Q21 5 UXs0|HES FLst= 02 22!
diabetes. Repeated trauma to the head increases | =8 dsl F1 Aen= FH2 (7t 2ok A HR 2ol
. risk for the disease, as do heart conditions | Jef FAIE Lo LA FollM Ofoll ths Xtuo] S5k 2L
that limit blood flow to the brain. Those who | £ TEOISR 2 UM 2HZ SXIX| H=E Folshor Bt
have had a severe head injury can be at much Q38 L=x5l0|HE =Q fole mojo(7}?
higher risk of contracting Alzheimer’s disease, (a) MIZICHAL =St
but much research is still needed in this area. | (b) A2t =gt
‘ i (c) Rxixol 2ol
Q37 What is the main topic of the lecture? ' (d) Alzt5t =8 2at

! (a) Symptoms of Alzheimer’s disease 3
b) Stages of progression in Alzheimer’s disease |

(

(c) Factors that lead to Alzheimer’s disease i - s N
: U=L|, 0|A0| LU=5l0|HES SPSARICtD Jes2 FE2

(d) Testing and diagnosis of Alzheimer’s disease

sid

Q38 What is the principal cause of Alzheimer’s :

; ; 01zl Alzheimer’s disease 2=slo|HE genetics |z |4
; disease? play a role %&t2 it inherit 22f2ct mutated gene
. (a) Metabolic disorders § Eoii07t Bl R%AF mutation S0, #13 genetic
i (b) Cardiovascular diseases factors R%1% Q0I5 trauma FAIA <&, E2t<0t
(c) Genetic factors symptom =4 age-related Lfo|et 221El  atrophy ¢1=
(d) Serious head trauma breakdown 4[ef, 1%, Aluf cognitive decline 2Ix[2f Zt&|
D ; contract (Zof) ZzIct
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Municipal law limits use of carpool lanes (also ~

SAS B2 X2 HMEtSin UASLCE CiYet 0IgAt 7 &
known as HOV or High-Occupancy Vehicle FHolIA Oflof= XIEHOF OJRXI0| 20f ALRKIO0| KIZH Q= OfLAXIE
lanes) to vehicles with two or more passengers. £ ®[2$0| 70 mile Robben Island TAE 20| CiPIA FME X}
One exception to the multiple occupant | M2 0188t 4 UEE SH= Pass Program@ILICh Al AJE] &
requirements is the Pass Program that enables 2101482 CI0I& X2k QHt X |7} 75te] 2K 7|20 E|A
eligible energy-efficient vehicles to use the 70- 5 SOt H74E N2 BAlst USLICE Tk EF EMESEH
mile Robben Island Expressway HOV lanes 15¢ O|Lfioll & L/Et =HX|ofl EfHS sHoF SiLIC Eol SiS Al
regardless of the number of occupants in the | vistel Es17E EXI=IH ZAREO| TIHE SLICE Of HXIE F

H = I:HOH:|.—I AH7F}A||:|-EH 0|0| I‘I|7|§

vehicle. Section 210.14 of the Sabine City

=
opfl TS Rk &
e
2]

. i X X QELICE 7|2Moz HEiSIAK= [0S M2 XM QEte ]
Statutes specifies that an HOV violation will I 712 W Cols T8 2 T E'cﬁ

) - - AlZHCHol EXIZO| EF =22t AMIZ AEE Kighsks LS
remain on your driving record for a minimum of -

Hto= 047]31 USLICE et ek

five years. You must answer this ticket within 15 2 MSRNS SR TR ¢ .::EH?_? IE_,“.\JQI B3z 2
days of the date of offense. Failure to answer 2 QIALICE AISOMHIS TakSH Qs ojHto| AlZFsI| ol o[atst
will result in the suspension of your license and ‘ Al Ralslkls QIQIK[OE HEISIAN= QHIS Ralsls o Alzt
a default judgment against you. If you believe | St AlZISH 9|5 SHES JHEIR| LS 4 UBLICt

you received this ticket in error, you may request Q39 AAIKK= OiF| IE St TR0l CHENSHOF 5H=71?

a hearing to contest it. Insurance companies | (a) 14 o|Lio

would basically consider an HOV violation as | (b) 152 O|LHoll

a sign violation which restricts vehicles from (c) 16 OlLHoll

using a certain road or lane at certain times. (d) 17 olLtol

Accordingly, your insurance rates might go up ‘ S BIAKIS] St o) St UWEEE] 152! OlLio] TE Sft
if you got a ticket for driving in the HOV lane in X[0fl EIHS sH0} Sickn oiZstn Qoo Mere (b)olct

Sabine City. While some violations including a !
sign violation might not have caused any type
of dangerous situation, insurance companies

Q40 IAIXIS] SAIRjol s F28 4 QU 227
(a) Cloks TSR Sitoz AgiE|iC,

; (b) Bt Holl H=F 2 S22 EfR1 oISHC

cannot distinguish between the less and | (c) El20ll AMEIAEIOIN 52 Tt
more risky maneuvers that cause violations. ‘ (d) IE QHto= &7+ MX|=AC
Q39 When should the recipient respond to the A HAIKIQ) & SRS ChA Of2iA| L7dal £ QIX[at Oy LHo| &

ticket? A FEHSR0IA o S F. Hstel S5 HRIEH 2
(@) Within 14 days A xHEto| ZIBHE! Hate LIRS £85I QUL Mt $AIXEL
(b) Within 15 days R 2 GXIS HUAZS 2 4 ATk w2t FE2 (a)olck. o
(c) Within 16 days § QIS T AN MHIFCH=E A2 SSAIE AR 2| el
(d) Within 17 days O|S3HCh= 0122 (p)= ARt Cl=1, B6i7t FXIE 232 ot

Q40 What can be inferred about the recipient of
the message?

(a) The recipient was cited for a carpool lane
offense.

(b) The recipient transported too many
passengers at one time.

(c) The recipient recently received a license in
Sabine City.

(d) The recipient had his or her license suspended
for a traffic violation.

2
Jor

municipal law = carpool lane Ciols Hg xpM
High Occupancy Vehicle ciols x12F  section &
status &+, 8 specify ZAGICE suspension {0, &
default judgment ZAixit hearing 3t 42| contest
olelE M7 [sict  cite (E=ol) A8ttt offense Iz

sign violation 4l= 2/£t maneuver 2t
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Test of English Proficiency developed by Seoul National University
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